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Gimg GuibLn® wHHID HPLIGHED
CHILD DEVELOPMENT AND PEDAGOGY
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There are 30 questions in all in this Part. All questions arc compulsory.

1. spCumi pGéms Qaran@ Leref Qeudaald Qaubfl STETUZID DIGILIGIRIGETL
udlieugh @ser LIWETITLT@LD

(A)  eflenaray eflg) B) wAnd e
(C) Bwss &4 (D) LW FETaD 6

School experiences and activities must be arranged in such a way that learners
may have some degree of confidence and success in their work is an application

of
(A) The law of effect (B) The law of exercise
(C) The law of readiness (D) The law of disuse

2. disdluemLgord psarmwuns FaLGUDTE QFLmM SELIITETD SIS |
(A) seeudriaL BHgsd (B) upemeu LNSFD
C) eys®s Twps sLESD (D) Cuss sppa
Identify the action that is not caused primarily by maturation.
(A) Swimming of tadpole (B) Flying of birds
(C) Walking of a infant (D) Learning to talk

3. prd ereplupsmst upHu yoer srid A@uamsl QumeSDHG
aurenpliLSSlear 2 (heubmsuh e aniéflamads QaTarL &TL8 o anriamelw|b
Revanggils uniés pwné Qslieug QsNE 2 FTramonELD :

(A) smsHwe Carium(® (B) eugeuanoliyd GCamium()
(C) pLsazuiwed GCamum® (D) Qaweur’pé Cariur®

When we report the perception experiences of a banana, we try to combine visual
sensation with feelings and with images is an example of :

(A) Idealism (B) Structuralism

(C) Behaviourism (D) Functionalism
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4.  FODE aumarader, soflova SrenTLILIBLD. Spaaamauppidr ary) o)) Dpm-faney)
D{DeD
(A) e eanGamhmpLd Qoars STELD.
(B) wmanss Coumas@pb@ FLOWTE souanld euUPBIEILIGEDS.
(€ ufu aeopaws Lfibg QamdTaT (P s Flana.
(D) Qumrsswrean Lfasmer aupBIGLS.
In the learning curve, pleateaus are found. Of the following which is not related
to this : -
(A) period of no progress.
(B) equal attention is given to all tasks.
(C) inability to understand a new method.
(D) Providing suitable incentives.
5. Renarefler @mé@n Curgl, B Weramed GBHEGL E(HEHIGEHET OHOHID
CTETETRIS@HLET CUMBHSIUSDE sraoliCuTsféd L luguwrs Biamudésiu@in.
(A) GnsEH (B) &eu(® fangay
(C) &engeyser (D) ENUELG B&s
can happen when memories become progressively reconstructed over
time to fit in with our pre-existing concepts and ideas.
(A) Interference (B) Trace decay
(C) Distortions (D) Decoding
6. wAPsHWar Wgwrer _______ Hleoe ada gHUbGLOu@ag Siows
Blenauldlenamyb pegiamiemalld INBIEGUSTS AMDEDF).
(A) W Curmwm (B) gi@g,rr@u_lrr
(C) <ierflwmr (D) weGumflwm

lead to a sense of well-being

and relaxation.

(A)
(€)

Euphorbia (B) Eutrophia
Anuria (D) Euphoria
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(A)  <Qplraid (B) <Si@ueaibd

(C)  miewrenroy D) sHpd GRHOD
Insightful learning does not depend upon the factor,

(A) Aspiration (B) Experience

(C) Intelligence (D) Learning Situation

~— =y =
r:'_.“.'_.}a..»-

= ue;.bw@'mamm PE®OW FOSD (g ayE QETaTas TETUE! safl FUT LTSS, 5
wpod __ sryeflsGern(® Qg QaraTeusen aflearaurGLo.

(A)  e_awrireL)Teunms (B) &eps&Ld

(C) @pHlane (D) eLaffurs

ion Model, behaviour is the result of

’ Ve . s .
In Bandura’s Triadic Reciprocal Causat
rand _ factors.

interaction among personal characteristics, behaviou
(A) emotional (B) social
(C) .environmental (D) physical

9. (PYREISTD 2FNHDH SHDORF CuLLerf SmeprT whleleaniear sra SeTey

(HIT_@IGGD HIOBSEHSESLD @eL i’ L Gprw) :

(A) 0.03 Qpmg  (B) 0.02 @pmg  (C) 0.01@pmg (D) 0.04 Qpmg.
The latent time (Period between S-R) of the Knee-Jerk or pattellar tendon reflex
being only :

(A) 0.03 second (B) 0.02 second (C) 0.01 second (D) 0.04 second
TRl (&G LDITGRTEU & (&5 LeT ®SUNEHUSDS
S GHPDD BELD. '

(B) @L(HG@wrss usraf

10. BLSMS Q)7 &5 60 G & En 6T i O&
Grrggicy 2004 BLE®S
(A)  Apuiy uarafl
() uerefl&E LumpuULL

Recovery by Rogers, 2004 is a
o have behavioural problems.

(B) whole school

(D) eSLiged
approach for dealing with

Behaviour
students wh

(A) special school

(C) out of school (D) at home
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(A)  alitpbdenmiieh capihi | it tifhyhlel

(B)  cqgmitIendmne o a0 11T b0 il
(C)  aired LI el a1 a“"f"""'”"}"""'"

: : ‘ b1t sk i
(D) He an LIl anell pnllilpnlnlim (I;n‘hnﬂmum{ \ilehieif Jheds ]l,i.,'u!.rr LMy

Which statement suppotta (he (el ol ety ul 1)+
(A)  Special tralning piven et ly 10 lile:
(B)  Actual petformance iy Viry Wil siperienes
(C) Mental ape incrensed with clittniolopleal e

(D) Few boys blossom Inte i aelieve later

et gl [t gt AT

L

ME IR

i (e It it 00 20 AL

12. @ant, Gy sttt 11 1 |y s 1 ,
R B ¢ il ol (et Al et

G Gl 1eb N amsniatl difid 1l

aurpailhasirar GotbLin (i
@MGs afaiflggin,

(A)  eradle@ig amiand (9] anlifieds Gy anfioil

() e gt aion
o levelapmetitil taaka ol life
el thy prowl

(C) <L Liaiht Gy
described the abllity (o perform certal
that an individual must learn in order (o aehiove

/

(A) Elizabeth Hurlock (1) Carl Hopgers
(C) Albert Bandura (1) Kaberl Havighrsl

13. ‘euaridd) eremp alridengdi@, b et e b it gl gt AL e fog)atisian '/
(A)  Qampaer@pdlith wopdlainn b
(B) o.Le erant_ <\luini g
(C)  apdirdd) oreni by Nebit i b1 ddlpy
(D) @aresafldd Wirpdsi gLy
Which of the following sentencet is uot related (o the fterm ‘prowth’ ¥
(A) Expansion in vocubulary

(B) Increase in weight

(C) It continues after maturity fn allalned

o

(D) It changes in quantitative aspect
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14.

14 glememr je@ser (B) 13 gienemt Si@ser
16 BHIENEWT 60 (G EET (D) 15 gienanr SGSHET
_The Pinter Patterson scale has :
- (A) 14 subsets (B) 13 subsets
(C)

16.

(A)
(B)
(C)
(D)

S-R SEDMey

saflgsefure: Qsm_iysenar Qawéaaig oo
G]urr@@hasanm @mgu@;@ <56

Qsr_fserrs @Gmszmg 56

Identi :
ntify the phrase that is pivotal for chain learning.

(4)
(B)
(C)
(D)

S-R learning
Capable of performing individual links
Discrimination of objects

Connecting in a sequence

e GuULL e ejerayGamaild Qmuug :

16 subsets (D) 15 subsets

THS (1 HlawTanTidley Frey lLdmen 2 (maurssng ?

(A
(B)
(©)
(D)

aumi@Qwrf) merendley Faf UL
Qewddpen meemdle) frey wELL
W stere Gamed mamerTile] Fay gl
areRT FiHS HlewTanBlay rray il
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lwés miTenTdle) Frellener uu.idru@g,?r@m Qeuginafler Csiray 1Nemaumeueareumbmyer

The Wechsler test which uses a deviation 1Q does not produce which one of the

IQ score given below ?

(A)
(B)
(C)
(D)

Verbal 1Q score
Performance 1Q score

Full-scale IQ score

Numerical IQ score

e e e st e
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17. Qe flenaw  wHmD

18.

19.

20.

i T

oramaisdr  ADUTTHS

Glpss FaLTEl-

v il enmis tiefrefi

@wereno Bonaim Garand LTS,

(B) @ousgpss aphcL Elana

(C) uwmuQurmear flona (D) swEHwUD Elana

Middle and High school students with intellectuzl disabili
beyond the level of

(A) yaaflwsss dlano

(B) Pre:-opcrational

(A) Sensorimotor
(D) Formal operational

(C) Concrete operational

sz sind g pré sPEs wobs Cursns!

(A) 56% (B) 60% (C) 66% (D) 86%
is forgotten after one day of learning.
(A) 56% (B) 60% (C) 66% (D) 86%
Hoaude alssaflar zar saps aariééls Qsrarensude safl wailger

sflwuren HMILD seuprer e emiamal gHUBSHSDTET.
(D) Aeva VII

(A) Hlenew III (B) Blenan IX (C) flaoaV
in Erikson’s stages

An individual develops sense of right and wrong at
of Psycho Social Development.

(A) Stage III (B) Stage IX (C) Stage V (D) Stage VII

BTy GELILLTINEG QBGUUSHETs HHmezarer sargyeLwu QupCpriseaar TS
Cadraflyd Calamod, DenhCusms CalApren. Camrduié smpmiiLg ehg eueamiFs
Flenavulled yeuen Gmélenmren ?

(A) UACwryé fleray 2 (B) UACwmme Heve 1

(C) umrbuflu &506H Hlaa 3 (D) urmpbufw RWss6EEN Heow 4

Krishnan obeys his parents unquestionabl
A y because he want ; .
As per Kohlberg, which stage of moral development does heS E?: Z-:O;d pUDISiTER,

(A) Premoral stage 2 (B) Premoral stage 1
e
(C) Conventional morality stage 3 (D) Conventional morality ‘stage> 4

—
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(A) el o il W ) _op et oy | @16 |(Gmired

(L) sl nabiy Gl gyl ) (inienad Gerrgéanat
Which among the ﬁ!”“\\'inu does nol come under prnjm:liva tent of pt:rﬂonality
AECGECTIT I

(A) ‘\'"..\‘ ”“Hli““ll” (“) AI”.H”.'“ P“l”l. H(:“lc

(€) - Haondi Teal (D) Monnic Tenl

29, LB e i Qe @aaldy mEHUgodhen G oauirseian apeners

(n].'t” k«hl H“‘ )l "\'L\g.\| (“]““'HH I p‘m“—.”:‘bl '

(A)  Blamey 2adlha) araidlmh

(B)  (hleamed wadlha) ey s

| '
2

(€) I aradt e Guenysan e

(1) CGaphidlabr araodiyiredr Lraordlimb

While participants are engaged in tasks their brain activity is recorded by :
(A)  Position emitting tangram

(13)  Ponitron eminnion tomography

(C)  Programmed electron tomography

(D) Ponitive electron tangram

23, .oblajomt <o, i Bl s o i sppd Qeudumn_yaild semwps ‘Capu@ssise’
dHperflanaar Giorby I(DGGHIAIHD Qenauntd 6ty @ Hopad Qpmgrang péEwsgieud
ODIDOTHYL ?

(A)  pardiEellgshed (B) e

(C)  GlevmImD (D) QugiapLe

Which one of the lollowing sequence of events is not crucial to the development of
Dincrimination’ in the operant learning process ? _

(A) Motivation (B) Stimulus
(C) Response (D) Reinforcement
D ‘
[ Turn Over
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24. GQsevdi Quienfian wepwratgl smedlsamer aulg UGS GID 106l
QurBl@welgib asdwn vRsTHHEDS.
(4)  wer Qudmua (B) wafls @uiGwed
(C) CrCearr QupQuad (D) Wer @QuipAwied
method of Gustav Fechner has found much use in apparatus design

and human engineering.
(A) Psycho Physics (B) Human Physics
(C) Nano Physics (D) Electro Physics

25. Csaoaflar <@ uamslurligd ‘aalgrs eflégFomGeur whmib ‘ereflgns
sranPssdansEh’ @ @nsE ol ul L amslarey Werteu(bn ahHE G
: wCamplerauier S uamsliLBSSOTD ?
] (A) CarQafls (B) UetsCoré  (C) Qu@wenstelsd (D) smbi@uden
In Galen’s classification, the ‘Irritable’ and ‘Easily Provoked’ type of personality
was classified under which one of the following temperament ?
(A) Choleric (B) Phlegmatic (C) Melancholic (D) Sanguine

26. Zefly war ié558d 2 drer Crrwraflée 70-150 Geural Wananrsens senaudld
Ceisgib ddléams wenp :
(A) e Lgs Hdlsans
(C) &t enwow Hfsens (D) Wemammhu@Ly HFeama

A procedure used in the treatment of severe depression in which an electric
current of 70-150 Volts is briefly administered to a patient’s head :

(A) Electro crystal therapy (B) Electro catalytic therapy
(D) Electro convulsive therapy

(B) Wlen ellenamy,ssl félFens

(C) Electro centric therapy

EpssarL eflam eumssafld ey mLwreTd ey oL saT®ULEGE0
<@g liueLuld @deana ? '

(A) CamglL @Lmseer flriys (B) ua)éqeir Garay

(D) efluren @enemrenwis SeaTBHLlg-

27.

(C) &fl/ seum
Which of the following test items is not based on recognition ?
(A) Fill up the blanks (B) Multiple choice question

(C) True/False (D) Match the items
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28. @O CHILUM 4 Lam safle syanss

(A) (S&rrgemsmgg,émemm (B) UGHsHe LD
(C) &(m&EsSSemanin (D) @ésé)u;é@m
Which is not a characteristics of a theory ? |
(A) Testabili.ty (B) Rationality ’

(C) Parsimony (D) Significance

29. smrane-&r&ey Qsuadper Csrgamar GFCsTsmanamL L &g @Toreng) :
(A)  SCeseuram i CuiLf Cengamen
(B) =it sroiera Gone I
(C) Qufle-umreiwnir Cargenar A i
(D) Qe _em - UMt igesr Cergenet
The Cornell-Coxe performance test arc more difficult than those of the :
(A) Alexander’s Battery Test ' i
(B) Arthur’s Point Scale
(C) Merril-Palmer Series iy

(D) Pintner Paterson Series B

& Qararertiul L Qummarsefien er e et éensanw

l

30. @Cr urieauulile salas s [
GHuLg : i,l‘

(B) Hleneney e5&s - |

S

A) yfge eiés
(C’) 56 HEUSSD (D) wenand GEiig
one refers to the number of things perceived in a single movement of

N ——

The
attention :

(A) Apprehension span (B) Memory span {

(C) Retention (D) Recitation

[ Turn Over
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32.

33.

34.

35.

36.

37.

SPLGHE QAsrar@pd WSS . aray Quuwai

&) @eQuuir  (B) apria (€) agaawd (D)

Querma Gerer

sUPS ‘s’ auflens spdss@EsLar Ceiphd Qrrwd GpQuulQuigpss SEnLer

LLHCWL Gerpg e QUAWEYSSISET :
(A) W, e (B) (C) U, m (D)

Au@eAsdramt pLgsms Qs wry ?
(A) Ggan@um® (B) srwQum@  (C) sWpsL@ (D)

~

& 0

SUlPHln

Quiluyrrer Qupes srldWd wremer Sasar  rbwrisaigréu

urupGsTHWL ?
(A) &LwbuU wrw  (B) NIEWLIWD (C) Qzenanar (D)

QeupmieT arm WL AW sHlwrarg :
(A)  wdlor - sTHHld WSESWL OO

(B) sflwr - ciempuempupn AfjE LLGD DD

(C) m gggleud - rRIGL SWMISHMmEGD DD
(D) asmoreusmiigeud - emULINUMS WiEE@ED pHDE

Qevergrs (et WD C&Tos Sanarl| Bt

@&EETORID STHES QLS. - QD SmwpgiaTer el erg) ?
(A) Yilg Qurfsd oenf (B) Ceaupmenw ienfl

(C) oeuend jenfl ‘ (D) snEMNUCUPD Sienf

UGUS 2-MILLGET 4mib eu(HLd Clme :
(4) e@rgd@  (B) yoapGsmd (C) ysd (D)

S
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41. sflurer QUTMHESEDSE Fas :
Glgmev QuInmsT
(A) o L Leamss@h LWEUED BisCaEsD
(B) @ewrLLb - e wsb Br&Casa
(C) Qoepdl - Gessriul Quilu pirflene
(D) saue . o euinar fosdo Caram iu@d Siblow®

42. Qurssoreg Qg :

(A) gppa@uoL - GusEe)
Qeweflens el - S| [JTEIBIGLD
Qenaflens sen@QuenL - 2 LOTST
Qeraredans aTOumL - 2 (LU D

(B) @nmerCueL. - SJRIbISLD
Qaijeflens jer@uepL. - 2 (HLILGT LD
@enafleng erluamL - a_bgrrcwr'r
Qerelans erduaL - G45LHE

(C) e@bmerCueL - 2 (HLUgR LD
Qewyeflens jerCuenL. - 2 T
Qenaflens emQLEL - SFRIESD
Qaroalans siarduamL - Gl45L5E)

(D) ebper@uUeL - SFRIEISD |
Qeliweflens oerCluenL. - 2 LpmST

‘. Qenaflens jerCluenL - 2 HLLg2 D
Qerelans SjeTluaL - Glg5L5E)

43. gamewwled sarLfuiul drrefl. Gourflseieo @LbCuprs BOS
Syrefl_Gwmd ?
(A) er(m&BT (B) &sum (C) Camflsm (D) srisT

44. ‘ysasafle Amps L, UmSIHU L, erend Camerareur :
(A) &sellwant ' | (B) mrodsd seileyi
(C) slLpsLs6amme (D) urGeupsit
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l Tonchor Eligibliity Test - (THTET - 2019) - Paper 1 =

. v 0 ot allowed.
i Al Entrios with Blue or Black Ball Point Pon OT.’.’ {Jf{lfrffljff’eﬂcils are n "

RN o 15 cPs - 2

',
‘part @lpeufl' - o
45, ‘oot @ipoufl' - Gd, o Gy aronsl Vb

(A) &g Qar@)lﬂiﬂjllh alfemu (B) Lo il I

(C)  @amaiim_ana (D) o neni LD

. v (9 . . Y r ¢ (_::, ""’Tmu;f-ﬂ
46. QUragns Gampenienadd NIo ot s cromuflsr wEanzsl” aezEe

Quirgnelr wirgy ?

(A)  araff B e () way (D) &L

47, QuETEAT "WHGLINT i Carenin aremgy ol :
(A pOlpd Qe

(B)  omeudsid eliyr
(€) GCupdlw se

(D) Ly AGseh)

48. "' [HEGIGGN G |6UT TG | @d)m)ugf,mrwj;({ﬁu LD

@Qerrag Guuenmid'” erampaur,

(A)  Siiflwigsdr (B) sipfl Qsrsspst
(C) ;’DQDQJGT@G\JI'I (D) Uﬂ'l)'ﬁ@ﬂ'/if;ﬂ

49. soumAprgy Guilamflen M wri ?

(A)  wulGamid pemsen (B)  GWy@GmUTT
(C) 1ulGemid QLG (D) 2ibuwaren Czisapiss

50. LauridSluded wrpulLgl ergl ?
(A) sridluwe  (B) W g (C) Bwenamiiunen (D) seewdlay

51. mFpGUTHD, apedreflam Quifflsm, sallEgaowpea o o ulreufler @y,
o LG e ufiabs eappd dw aflesulid yemibs Qard

(A)  UBSLOND (B) Geupblid (C) maemenL_ (D) Guemi

52. geuprall QuIEHHEBLIL®SS CoipEsHEsD
(A) D@ + DG - Gl wpan 2 udlir
(B) Hafl + qpd@ - p_udlir (e Qwuﬁ
(C) @ + PG - Gl Lpar e udlir
(D) wofib + Hener - GOl ¢pe Qo

| Turn Over
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53. o, G].muhg,eb, @S, @!ﬁ]@
auflengiL(Bs5is.

(A)  smum, srE5s, 1o, EHTP (B) &mMEHEl, ST, 26, GHTLRED

(D) &mwr, @HTLRED, FHTEHE, RENE 3V

(C) &6, @pmrLped, ST, HTEHE)

54. ‘eThgh GEHET oL eremugl rauauensl QUUITTS o Muiiu@&emnd) T

(B) GuakTurd Quuwir

(A)  <yerumn Cluwir
(D) Lr@sTmH LTS Qo

(C) @umd Quuwir

55. &psramueteupmer ‘@ensd’ upHiL gapernd GCais :

A) @A (& Gsdayb AUImHHT DWSSPD ENSE 2{EnLOW|LD

(B) @huS®amers Qaram® 2 (peursslu@LD

(€) 2 AuQurmECerr® Crfle s QamMidars GOy Gum(perT

(D) aflenar, Lwe, auigeuld, B &l Brend e oiqinaLude Ggrenmid
56. “Bm@pbd Flpeniou|d

B0 bCaTTE®E @dene

@mulpms &lpenow|b

CQuensErésE Gaama”

-@uiygisseflanguler opAflwm wri ?
(4)  Qrrgflas) (B) Gyléd urgyésnd e
IC) s (D) @ILglFELOmen

57. evaiCeud, Aumfloep, Siflu gyaramw, prer sjeue - sflwurar werpereuli) Qs
(A)  @iuyy uwyssn, o Ns@ampGpri, 2 banEeGTms, eilanesHosrens
(B) 2-Memp@ori, @Hly’ Qu@ras, alenangQpmans, 2 tbeniog6sTens
(C) 2awewy, 2bawidsros, eamai@smms, @hiyl QuL@rssD

D rﬂ ; v ) O 7 . j ’ y
(D) ef&Csmpblprit, eilenengQsirans, GO QU FsD, R.\DEO O G\ HITends;

————
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58, SG o ~CITGIT G [y ety STHI Beumira Qurapgpu_Herengl ?

59.

(A)  smipen i

(B)  smiapen Hany
(C)  amaflapedr 1Beniy
(D) 1o apanCiv

Qouciardir O eueisTener
BenrQuirespr HRwsgener

-

@enhlu euEpfssenar

Cr@yremprd Awggemen

QUL NGO L tb, 18ar BLsHé sfwnang Q& ©
(A)  eumpas HLOID

. LllTr'rg'sg, @0 LW 65T
G\ GeworemTiv

W&Ger i

(B) eumps g8

UTT&HSL epLiwen
Gy Setreuiv
&Ger i

(C) eumps SO
UTT5S LG
G\g. Seireu i
&G S

(D) eumps SLILD
UMT&S 6nLIWLIe
Glg Saientit
w&GeTs ST

60. geupran @aeanewd Corey Qeiis :

(A) 2.uQi + 2udiT - Lo + 3|(Hed

(C) 2uqi + 2l - Qg,siﬂsmem + LOLD

GET IT ON
Google Play

7286192

CPS - 2

(B) Quis + 219 - SO + Sienane

(D) G + Quowy - Ggen + wanip
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66.

61.

62.

63.

64.

65.

34

PART-III
ENGLISH

There are 30 questions in this Part. All the questions are compulsory.

GET IT ON
Google Play

DA AR

If you heat ice, it melts. The conditional clause here is :
(C) Third (D) Zero

(A) First

(B)

Second

Pick out the one used as an example for a.run-on sentence. .
(A) Ashwin loved visiting Kanyakumari Santhi preferred just to stay at home in

Sattur.

(B) How are you, Velu ?
(C) Hamlet, speak no morel!
(D) Add two 5’s and four 2’s.

Match the Phrasal Verbs under Column A with their meanings under Column B.

A

Phrases
(a) break down
(b) break into
(c) break away
(d) break up
Code :

(a) (b) (e)
(A) (i) (iv) (i)
(B) (v) (i) (i)
(C) (i) (iv) (id)
(D) (iv) (i1) (ii)

(d)
(i)
(i)
(1)

(i) -

(i)
(1)
(iii)
(iv)

B
Meanings

end a relationship )

to escape from someone’s grip,
stop working ,

break and enter illegaly

-

In Litotes, an affirmative is conveyed by negation of the opposite, the effect being
to suggest a strong expression by means of a weaker. It is the opposite of

Ex: Thge man is no fool.
(B)

(A) Synecdoche

Metonymy (C)

Hyperbole (D) Pun

Choose the correct American English word for ‘tap’ :

(A) Fall

(B)

Wallet

(C)

Faucet (D) Cookie

Pick out the Idiom which does not match with its meaning.

Idioms

(A) To be at logger heads

(B) To be on cloud nine

(C) To give a piece of one’s mind
(D) To be at the end of one’s tether

Meanings

To disagree strongly

To be extremely happy

To behave in an unnatural way
To have no power or patience
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67. Edward Lear’s ‘Tt
¢ Duck and the Kangaroo’ is a humorous poem of a kind known

68.

69.

70.

g 8

72.

73.

. (b) In a beautiful style

as .
Q) Nonsenany (B) Limericl
(C) Nonsense vers imerick

verse ' (D) Octave

Write the opposite of the following :
’I:ie rgbblt was eventually caught '

incid ’ '
( entally (B) spectacularly (C) initially (D) uneventful
;I:)e ‘;::1(-1 ‘Vendetta’ is borrowed from the language -

1an (B) .Spanish (C) Sanskrit (D) Latin

:\;e)‘me the poetic device used in “Murmuring of innumerable bees”.
o pus. (B) hyperbole

irony , (D) onomatopoeia

Match the adjective/adverb/noun phrases under Column A with their kinds under

B and identify the correct match.
Column A Column B
(a) A boy with blue eyes (i) Adverb phrase

(ii) Noun phrase

(c) To do such a thing (iii) Adjective phrase
(d) Living in dark stables (iv) Noun phrase .
Code :

(a) (b) (e) (d)
(A) () @v) @) ()
(B) (i) () (i) (i)
(€ (i) Gv) (@) ()
(D) (i) (1) (v) @)

Find the incorrect sentence :
(A) The queen bee, with her w
(B) Pinky, Lilly and Sheela go to the same school.

(C) Either of the two boys has done this.
u, who are my friend, should not blame me.

orkers preside over the hive.

(D) Yo
Read the words in British as well as American English and choose the incorrect
pair.
British English American English
(A) Pedlar — Peddler
(B) Visualise - Visualize
(C) Center - Centre
(D) Honour - Honor
[ Turn Over
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R

e alliterated words are -
(C) ran, moon (D) ran, 25, MOC

Cra - 2

4. "We ran us If to meet the moon”,
(A)  ran, meest (14)  mect, moon

76, 'The word ‘Park’ is o
(A)  Heterophone
(C)  Homophone

(§3) Heteronym
(1) Hom ograph

76. O Henry was the ‘nom de plume’” of e i are
(A) William Dlnke (B) William Shakespeare

A3, v [y, [ 3 4
(C)  Willinm Wordsworth (D) William Sydney Porte

77. In which state the ‘Hornbill” festival is celebrated ? T
(A) Went Bengal  (13) Assam (C) Maharashtra (D) Nagalan

78. Poctry written in iambic penta meters that do not rhyme 18
(B) Blank versc

(A)  Free verse
(D) Full verse

(C) Nonsense verse

79. What is the meaning of the word ‘Opulence’ ?

(A)  happinecus (B) brightness (C) weakness .(D) richness

80. Malch the Adjectives with their appropriate kinds of Adjectives given below :

Adjectives Kinds of Adjectives
(a) such (i)  Adjective of Quality
(b) 'Tew (ii) Adjective of Quantity
(¢) new (iii) Adjective of Number
i () much (iv) Demonstrative Adjective
Code :

(@) (b) (c) (d)
(A) (i) (iv) (i) (i)
(B) (iv) (iii) (i) (i)
(C) (i) (iv) (i) (i)
(D) (iv) (i) (i)  (iii)

81. Leslie Norris was a prize winning poet.

(A) Irish (B) Welsh (C) Scottish (D) American
B2. A scries of short detached sounds is called T AP S S

(A) Limerick (B) Staceato " " (€) Octave (D) Sestet

D
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83. :JAt;oose the correct meaning of the phrasal verb “come dovm with”

c ro chimb (B} to contract illness
(C) to meet B e .

84. A canner can can anything that he can can. But he can't can a can, can he 7

Read this tongue twister and pick out the meaning of the underlined one.

(A) A person who preserves things in containers for sale

(B) Process of preserving

(C) A container

(D) Sense of ability
85. Which part of the given sentence has an error ?

Little effort has been done to solve the problem.

(A) (B) (C) (D)

(A) Little effort (B) has been done (C) to solve (D) the problem

86.

“I hated every minute of training but I said, Don’t quit. Suffer now and live the
rest of your life as a champion.”

These are the words of .
(A) Mary Kom (B) Mithali Raj
(C) Mohammad Ali (D) Milka Singh

87. The prose piece “Living Amicably” is an excerpt taken from :

(A) Wings of Fire (B) My Experiments with Truth
(C) Das Kapital (D) Unbreakable

88. The word ‘geode’ should be pronounced as :
(A) je-ode (B) ge-ode (C) gi-ode (D) ji-ode

89. Among the clover - scented grass among the new-mown hay,
What is the meaning of the word new-mown ?

(A) Recently cut (B) Recently ploughed
(C) Recently watered (D) Recently sowed

90. Choose an option with an improper structure :
(A) The old man walks his dog daily.
(B) She had always been short and fat and slightly bent
(C) The war has been going on for two years now.
(D) Jim may be able to help, mayn’t he ?

[ Turn Over
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QUuadui@e 60 QT sy Dotanar. Heneuthibl "”“'U"'w'mk") J
I e are 60 3 it 49 ar
l“‘ are (lu(‘-\'tll\l\.‘\‘ il\ all in lhiH Part. l\“ (l“(’"““n‘ .

ATICS AND SCIENCE

@b efant_wieflda oo G,
¢ compulsory.

| gredfled [ ~eon SEs5 D -

L. iR 9 R - sns Yoo 1 — I craat atanrumassUOH DS
iy flx) =1 [A eréar quaniuln) (D) it )

By R B) (1, «) © (=t
Let £: R = R be defined by f(¥) = 1 —|x, then the range of fis :

92. 6+66+666 4+ Taub Qprifld s n o_muiLsafle G (HBHOD SHTEs.

---------

Find the sum of n terms of the series 6+66+666 +.........
&) 5= 3 {10(10;‘ - 1) _n} B Sy- 2 [10(10;1 -1 n}
(C) s,= % [}ﬂog_‘ﬁ} D) S.= % {10(10;‘ = _ng]

93. @m uyelwmurd T 150 aislb 8

556085586 smmis :
(A) melsL b 10.83%
(C) @erub 9.83%

A Fruits of one box was
percentage. 190 each. Find the profit or loss

(A) Loss 10.83% " (B)

Loss 9,839,
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94. O HaEMTEED FHGLITAYy Gt omena 3 : 00 o] aradled, 1 tenfl 5 [ hisEHHES
D@ Bl ‘(g:z'rrcﬁlgb@tb L] apeireflphesib @)aml_-uﬁ]c.i) o_dren el ereoiem 7
(A) 120° (B) 90~ T (C) 92,5 (D) 95.2°
If a clock shows 3 : 00 P,M, now, what will be the angle between minute hand ane
the hour hand after an hour and five minutes ?
(&) 120° (B) 90° () 92.5° (D) 96.2°

95. ga urseflurdgdr o i gt f Sl ot @uIrpy 6 Gl I 610 & 6T
Quméawen_ufldana
(A) Qgev’Mgsen Qprdadr @)
(B) a@eurevsafld @O&S Lyshisdr @)mLILIBIGD
(C) eneuran BCanmbaer QUEmHEHLEDI-IBDE
(D) Warendl ‘DNA’ encugedlasr DNA -éna Qowedpdsd Qe GITed
Why new phage particles did not produce in bacteria during Lysogenic cycle ?
(A) Presence of Restriction Enzymcs

(B) Presence of Repressor proteins in phage
(C) To Multiplication of phage genome

S G Bad e B B | f B .l"li‘l‘frf"_“l’ | B I | B o ""I _‘,,i

u
(D) Plasmid DNA deactivates phage genome ;
"
o » . - . . 0 . . . 2 2 = - . '.
96. 2x2—3x—1=0 eremm FOETUNIG6 (P@IRIGET o LDDHHILD B erafed o+ P~ - Y3 WIW 3
wrgl ? v
B
4 13 13
— —= C) 13 s ;
(&) 13 B) 3 (©) © 3 |
If « and p are the roots of the equation 2x2-3x—1=0, then find the value of '
o? +B2. ' '
|
4 13 13 |
— - C) 13 -~ |
B8], 53 (B) 3 (C) D) ‘

97. a%g;é&@fm_m;bgér o5l amo&CETTET LB SEUDTET FnHDrEGLD
(A) iemeu ST Couirsené@ saflo b Sy aphiGhng.
(B) fa g)rrau;rréja;erﬂé) cuariEfenu 2ard@e &8 ng).
(C) zepeu 2141 o _JrEIGETTS QawauBdenpe.
(D) ma@rﬁﬁ@@gg,g@d) Ui Qumidlempan.
Which of the following is wrong about Mycorrhizae ?
(A) The minerals and water provided by fungus in roots.
(B) They induce growth in some plants.
(C) They act as biofertilizers.
(D) They are used in Soil reclamation.

D ; [ Turn Over
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ahahiate o
SHNELEER vt
TR P coRw? ")
RUNEE I ) 2 eond

00, &) & afalwnn W
ESRER TN
BV N () 1o
e number of males of 82 1 of He
AN () 10

5 Al \
100, Quirendarnadiy s ggd

o)
a0\

WS \\‘..

5

3 \ )
undaaiag) =98 ms )

(Al 401 m (13)
I the object ts dropped from the
t=J3s, then the height of the buildi

(A) 401 m (B) 4Ll m

441 m

101, 1@ ereiuiiil § em S, »i-‘.lsl.'}‘-ii*

b \ W
\\u\\ N o ‘n‘ \“\\“\\‘\"ﬂ W e

AR S T@ L HBTQ Byl oot o Wy Quedter ? (

GET IT ON
Google Play

ML I

AL

(1) 2 ming () 4 conecl

() 2 aind () 2 conecl

N 1] LS
et ledt @ ol e0od] 4 6t & (He ool Cotnmrauirn

ic) & () 7
w0 (molar masy ol He=4pg)
(SIS (n) 7

Y o Nl anha SCW aNapRmyI. LG ur@mer 3

ST (15560 -6 LI L)

(D) 43.4 m

ches the ground at

(€C) 464 m

sp ol a building and it rea
ng is @ (ignoring air resistance) (g=9.8 ms

(C) 464 m (D) 43.4 m

NeHUIGLITED /3 DLbi@ 2 wppb QarearT 45

sy agal Quar seLsar @y GMINNLL SlerTadrer @l el Lendenw
Qarar@ gwrtadpni, = Warq] @iiaLuuomsmu Qarar® 2 cm <, FEpn

0.5 em 2 wWreph QEradr. Qnli.
TESOAT ST Surhss @uigbd

* \ L
A 30 (B) 75

IR LILITESHIL-GT Falg Ll 2_(HENET GUIG6L FonehL&HET
?

(C) 225 (D) 10

W @ . e 3
Rahul has made 45 conical pen stands, of same size, with the radius of each is

being § em ¢ it hei 3 i i
i:\ > emoand their heights are /3 times their radii, by using some amount of
candboard.  How many pen stands can he make by using same amount of cardboard

in tho‘shnpc of eyvlinder with base,
stand is 2 em and 6.5 em respective

A) 30 (B) 75

if the radius and the height of each cylindri
cal
ly ? (In both the types top is open) e

(C) -225. (D) 10
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R St e ol _- A . 5 . - %
OBl e g el o L SHEIDILEILLESS sam_pls :

(A} Bl i e G vhsety (B) mew o LsaT
(€} cldgrQembar (D) Zl*n.’a\ U NGuIT S&T

Wik it the differont form of cell organelle from the following :
(‘\} ( “v\"\\\\' HOMON (n) I\,[i(.‘l‘()hﬂ(“(‘s

() Hphaerasomes (D) Centrioles

L0, g enb ey & Hann Hoh Neao Hav Nt LIS ET o_QTATAI. SLi@uSS(mBbE R
|n".-.u LTI Fiihem wl (N0 LD I 6ot }Q,]"q.m._'.,\.,—,@l @L") Naudiy @mu LH&OS crRLUSDHSTET
IMagnaaiiledt epeinr ot iy arafly ‘}‘)ll:l‘t\n\lJll!ﬂgéleI'\ﬂ Hev B ppgisailan SENCHIE SR
A) 20 (1) 10 (L‘:) 25 (D) 15
A b containg 5 red balls and some blue balls, 1f the probabilil}' of drawing a blue

bl fram the bag is thrice that of drawing a red ball, then find the number of blue
hidle (o the hag,

(A) 20 (1) 10 (€) 25 (D) 15

POA, ARG Gl G\ s i dranr anrduimsalld (A - D) seuprat S DD (3‘5r'rgi‘)Q§>®~
(A)  hleoor i @enmibm cotaia) Ly phong ClsrarHararg.
(1) Gl hleonnBi @npmiisar ginaflsatld Glaeim Hpaderpet.
() hleaonfil 2o Aydldaiont s Qangpiing Gurghlseer AL )
(1) hleonn il gpc dlen dlranb
Qiady the four atatements (A - D) given below and select the incorrect one out of

e,

(A)  Lymph containg lens protein

(1) Large lymph vessels are finally opened into artery
() Lymph carries ahaorbed (ol

(D) Lymph i tissoe (Tuldd

a @iigal Gmmtib 90 W, Hend whopd 75 18, @@ wrsah o drers).

l "Ho l/’“‘”) ‘u‘-‘. 'uz”'ul'
Cppmenghdleh G dhong, S oemodsiiBEpg srafléd Lirensuen

bl 1116 61,
gt gt Glam G- A1y ard i,

(3) 0,085 QandGuit

(D) 6750 QamsGii
a0 m long and 75 m broad, A path § m wide is to be built
ifind tha avea of the path in hectare,

(1Y) 0.085 hectare

(D) 0750 hectare

(A) 0076 Glandhtii
() 0,850 GlgmHti i
A rectangilar garden I8
otside and around it
(A) 0676 T G

() 0860 heelare

7, | Turn Over
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CPS -2 e
D 2, Hah A i
106. CHy (g + 20 = C0200 " QHZL()E&”LS'GMH arflausD® Cpaaiu®w B2,
@&ELD@JTLJITL.[L].GUTUU}‘ 50 @ 4 .
" : 52 D) 100 Gs 5
;()@LDZZ s @ 0008 O 75 @8 O
CHy ) +205(, = COyy * 2H,0() . .eded to burn completely 50 crn’” of
N o Jume of OXYECn nee

From this equation the vo

methane is : ,
(A) 25cm? (B) S0 cm® (C) 75 cm

(D) 100 cm®

107.0) wggjemma;srﬂcb o drer &TUL Q&6 &eT T @aﬂé@&r’rém& Qs B)uIB s,
. (9] 60

STFEwTLD | .
(A) RUBISCO iwpgpitb NADP wananl-GrrgGanan @)dveney
(B) RUBISCO wppito NAD wenapl-GrmgiGanen 10

(C) RUBP wppib FAD @éveoe
(D) PEP wpmtb ADP @déna
Guard cells of leaf stomata cann
(A) Absence of RUBISCO and NADP dehydrogenase
(B) Presence of RUBISCO and NAD dehydrogenase
(C) Absence of RUBP and FAD

(D) Absence of PEP and ADP

ot Photosynthesis becausce !

108. & ipsaan_aupBléd ehs @auren_ib eremsefilen Glenanr srgilwioreng; ?

(A) n=0,1=1, m=2 (B) n=1,1=0, m=0
(C) n=0,1=0, m=1 (D) n=1,1=1, m=0
Which of the following sct of Quantum number is possible ?
(A) n=0,1=1, m=2 (B) n=1,1=0, m=0
(C) n=0,1=0, m=1 (D) n=1,1=1, m=0

109.1, 2,'3, 4, 5 g flweupdler il eflovdsid 2 erafléy 51, 52, 53, 54, 55 2 Elwieupiblen
cllevss eurds syrafl eremg :

@ 3 (B) 4. © 2 (D) 50+ .32
If the standard deviati I L
Ao onofl,2,34,5is /3, what is the variance of 51, 52, 53,
(A) | |
V2 (B) 4 (C) 2 (D) 50+ 2

D
7 f\/

; 5601/4/@/,‘1/
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10. 65050 (508550 1585847, 7 ¢, . : e i
: sotll ey f 0 }w' %l 120, 1 gt 1wt 78O0 - Caldadpri. :
L At "_J,f,l ‘.:’j’!,a' 7 e p Py - 5 o~ " ¢ L
- WO A 1t58300 1, spyhprry :
(h] 26850 Lo
p ) ; (”) AL () 2540 (D) 2560 :
Y N30 Tas suved 7 ¢ P i . ‘
2 400 in the ;;:;:,” r ("4"} during the first month, 2 720 in the second month and 1
‘ F ’ . c nianit i l’ } rE { v " re1/] % i 5 & *1NCC What Will i
be his savings in 1he e ”mr:;}"z;mlmu,;«, his savings in this sequence,
( 2655 N s
)i <l (B) 24550 (C) 2540 (D) 2560
S H o A o A v/ ! ) y 4 N (F |
111. B)ning s I/{{b{},ﬁ)%’)’,ﬂ,‘f"},l ) Lt sin I(Uﬁ/j) %f’ﬂg/h ,7#{.]_. + /A,f:i’_z. - _/.C._;--(—‘, @m@ x + 120,
+ F (A ’ - V"” a ?
£ ¥240, \BHIMD %4420,
l’ s 3 73 /.' » oy 3 )
A) 124 2.2, 2 ~ 2./3) (B) 134 243, 3~ 2/3) : |
1 |
’ | m 'l ” L ) - ; E
(C) =24 23, =3 - 2.3} (D) =24 243, -2 - 243} |
E
Sitition 4 -~ 2/ 4 ' S |
Solution for the equation R + =2 U 3’ where x +1#0, x+2#0 an }
7z 4410 using quadratic formula is : ' |
(A) {2+ 243, 2 - 2/3} (B) {2+ 2/3,0-2/3 | - |
(C) {-3 4+ 243, -3 - 23} (D) -2+ 2/3, -2 - 23]
12,12 + 12 + /124 = ? |
3 (B 4 (C) 6 (D) 6-5@ 2Hawrs
’f; ':vv-"-r ;"—“/‘_; l! .- - 5 i
h12 + iace fizd |
. ¢ 4 7 3%’ . 0 " - g
() 445 3 (B) 4 (C) 6 (D) greater th_an. ‘6
T , . M oibsmy Duranaayser wpenpGul (6, —1), (1, 3 i
113.9, O wipmgo B aroilh Lydrifiaiflan ibu W jmerr wpenplewt (6, —1) ( ) ;

ih PO =QR arifldy ‘a’ -@)en whlienuid snese ;

Wit (a, B), Q0N
R 3) 5, ~1 (€) 4, ~1 (D) 4, -3

& - ”/} ; | . |

(?) 5, =3 of ‘&’ such that p()=QR where P, Q and R are the points whose |
z:;,:}d;;":: ;/dl’l:;:‘ ‘(’6, 1), (1, 2) and (1, B) respectively i
O ates are ' i
o . (H) 5, ~ 1 (C) 4, -1 (D) 4, -3 |
) " |

D, =0
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114 2 avanip SHEA ¢ updse e uild aGaimr el gor WIpimen swemsins bl dmpeas,

SN L1 RS Al Ligpmimen e o1 (i B Bz,

ST - Quihevswins ol saflmanar Gurddl L s PEIEEILI D,

A & avaona SEHRES! ODDID Srgenttd Ehresr (Wb ai). sityeonnd 2_eiorenws, G505,
A UM

i\

D)

~N ~
VAT m
SIS sAns.

B = avenns amagl ol @pemnd sryand aflwirer eferdsin .2iha,

~

I T SHSS onDDd Sremh @yaniin saig.
SGHINL Srraaph g @G 2 anTanio LGB SNy FMurs

o . ]
QATEREQ]QQQ

.

Assertion : In fruit stall, many types of fruits are present. But fruit flies are

attracted by certain type of fruits.

Reason Fruit flies are attracted towards fruit that arc naturally ripened,
(A} Doth Assertion and Reason are true. Reason is the correct explanation of

Assertion.
! Assertion is true but reason is false.

"
&) Roth Assertion and Reason is false.
iD

Both Assertion and Reason are true but reason is not correct explanation of
Assertion. ’

PE=x+x+2 eram QoL UdIWUILE Csreel x -oFms Cou @b Lyerefsafier
TRMIERDS

Al 1 B) 2 (C) o (D) 3

13¢ mumber of points that the quadratic polynomial x2 + x+ 2 intersects the x-axis
@A 1 (B) 2 (C) o (D) 3

201k pue sdar QavssaflQid o drar GumeTsenemu b gavanw §mLumned
LTTESD Apar Qaraumg).

N 2& Qprsde Qussa PO @ QuimmeanemuyLd, CURSIEHET eLpeLD

LOEYTH QurmETYD LTTEs Quigitb.

g

2
b
,
7

¢ X & v

B Qrar@n Saun
C) 1= 2=am

- . G -
D) 1 saum, 2 A

Statement 1 : Rabbit can see all the objects ar

ound it without turning its head:

Statement 2 : Rat can see two objects simultaneously one through its left eye

and other through its right eye.

{(Ad Both are carrect

Both are not correct
1 correct and 2 is not correct
} 1 1is not correct and 2 is correct
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Vi WOT 1DV = A -
Gerinl oo otharwlso your OMR Ans lo, oNca darkened, changes 1w e .
v 2L optl el shado tho rolevant circle. * aivon bOIOW:
w correct option o : g noxt circlo a8 a
touching 1Y ~ N (AN

bavbeen 1 rammlotoly without

R O as cPs - 2
{ AL
alEm S Digsan G
(@)  Sadno mlenyiy i)  Hfo
(b)) LD (i) @i
(c) By (iii) urereLss i
(d)  wall (v) smpp meoy
(®) (b)) (c) (q)
(A) () () (v) (i) ‘
(B) (i) (1) (iv) (i)
(€) Gv) (i) (i) (i)
(D) (i) (i) (i) (iv)
Match :
Type Example
(a) , Solid Foam (i) Cream
(b) Emulsion (ii) Cork
(¢) Foam (iii) Cheese
(d) ‘Gcl (iv) Froths of air
(a) (b) (e) (d)
(A) () (i) (v) ()
B) (i) (i) (iv) (i)
(€ (@v) (i) () (i)
D) (i) (i) (@) @) }
118.H,P,0, -6 e_efTar R soLIGeaLILsaTleN eramaGans
A 1 B) 2 © 3 (D)
The number of Dative bonds in HgPpO7 18 —
A 1 (B) 2 (C) 3 (D) 4
D [ Tarm Over
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FENEATTRInm Ty
4% | e o
— - . B _,-’. "Z‘ﬂﬁ'l,’,’.;"/ "
CPS 2 G oy ;" ’9:‘;’%};@ Zh D & e
119.100 -&@W 300 -&@Ww Glen Cw 14 -2 assub
#BzD eraman 7 I
' (Cy 1212 ) o
(A) 2842 (B 4116 J 0 znd YSY thst sre Eriaige o,
P - \ TC.) ZEe A et i,
What is the sum of aif natural numbers between 1
o (D) 1414
"*‘ia "LJ;,- - -
(A) 2842 (B) 4116 (Cj 121

- = = . > .
b gevrol pEdmis 2000 £ 2asiSE wilnes
120. 1 218Ceusts Cuni eSuwrams eoFiol L 55500 -

/e 2 A o ——
- alnw) S_=Sio =LA,
. -0 3605 Coir Cuorss ‘-7,"_5/5’5:@’ =2l e z K o
S8Causs Gurs crorenzens Cpn Cuorss s5fier ohps Catariss
- 3 L) o i ~ "Ma)a" s ,1 s
2 A o . AN o I I Jr-‘-.-';-v‘;;,f.—-;,“'- -:9”“; . = i
Sy LDLI_g,g']a) 20 GUULEILL. e H’ .Jr*& p e ;&:f:y; e 3
MR 4A=e =P 55 Cogiils Girarm D S =
WeamCGuw 60° DO 457 eredidy 2ugs Czrid G5 -
~ ~

sIT55%5 sarss =
s - . T /;; f 9 6Y 66 % = _,H(,ff’.—‘ - o=
s Curi Qwrens DAVAptinGg GleLoule si7iws

(3
(4)

= 1.732)

5 64 15 (D) 1222.%
1260 8 (B) 1268 138 (C) 1264 & (D) <

2 lirectly over znother
A jet fighter at a height of 2000 m from the ground pzasses direc YV O%

i rati rom the same ghseryzsio,-
jet fighter at an instance when their angles of elevation from u.; ‘;:';‘ £ o
point are 60° and 43¢ respectively. Find the distance of the firs:

o

vt vt LY TTore

the second jet at that instant. (/3 = 1.732)

(A)

121.gculeun Qev Nsazer Cpriuyb DNA Gasmap Bz G

(A)
(B)
(C)

(D)

Each Restriction tnzyme cleaves g5 DNA

(A)
(B)
(C)
(D)

1260 m (B) 1268 m (C) 1264 m (D} 1222 m

® 4% - - - -
SLE5 Slamassns; -
o e -

Bensefen warensefis

Bsensen uGSudéa

G055 EOndr ﬁgéaﬁ@mmﬁ.@ aufienzullg,

DNA -efen PLIWES 6

molecule only at -
the ends of genes

methyl groups

speciﬁc nucleotide sSequence

center of DNA molecuyle
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122. Spsean. dAfghlsals oy smgissnussd Comida ANGH S ?

(A) s@Hb @qgg Cerens (B) @rés Hauliugmisaatien Slanzay
(C)  urelengsSi8wr (D) wemariyed ei&sLD

Which one of the following is not the symptom of black water fever ?
(A) Severe anaemia ' (B) Destruction of Erythrocytes.
(C) Polycythemia (D) Enlargement of Spleen

123. sflurer @erenns Caib0sE :

(4) @G’,TFTLD@GDG*U > i@l SHHATL Ged — CapaGe eumaray — Cszflgms 0

G

(B) @ermomed — QanaiGa auemerey — AT SHHITL GPD — Csafamo
G

(C) GoaféEbd Gud — CanaGe amera) — GETTOHE — ST F(HEHTL
G |

-
)
e
OHGO

(D) GeTTL@HOE — T FHETL GL® — GeaféGhn G — Can
GUENGTE

Choose the correct sequerfce.
Glomerulus — Proximal Convoluted Tubule (PCT) — Henle loop — Collecting

(A)

duct.
(B) Glomerulus = Henle loop — Proximal Convoluted Tubule — Collecting duct.
(C) Collecting duct — Henle loop — 'leornerulus — Proximal Convoluted Tubule.
(D) Glomerulus — Proximal Convoluted Tubule - Collecting duct — Henle loop.

aul_L algeileorer @@ gmdlré sbiufer <rib 35 Q.15 Q& @ s5y aigdld
s ILOEDS eTailed SFEFTEHE LESEDSE SN :

(B) 55 Q&.18 (C) 62 Q&8 (D) 70 Qz.18

124.

(A) 50 Q&8

in the form of a circle with radius 35 cm. It is bent into a square.
de of the square. ,
(B) 55 cm - (C) 62cm (D) 70 cm

A copper wire is 1
Determine the S1

(A) 50 cm
[ Turn Over
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125. men . Canarismelan afliien shlaafiblpen ol

(A) Mg > Ca > Na () o=t Mg

(C) Ca> Mg > Na (1))  Huo= My =t

The correct order of reactivity vl pebale Gty witled T4

(A) Mg > Ca> Na () Moo= U= Mg

(C) Ca>Mg> Na (D) Moo= g =t

b o b £l el b el smis wleifllsd) v ah
126.3x+6y+7=0 wimip 2o+ ky=b M A iimell i

. - & & P b ”
w0y : e A (+9) f /I;)

H
o+ ”/)

|
)

Y i ‘
N (1]

(A) +1 (B 1. ()

The value of k if the straight lines Sx-t Oy 17 =0 ol Dr ) Jeyf= 5 aie P ienlay
is :

]
(A) +1 (B) -1 ) 2 (h)

0 ' i Pl i I ! §
127. zienm Ceulsufleney 20°C -og Gty gy gpan 0 e [BIPEIIEIIE Ghahan @l ol
2 ammey 92°C -adlmmg 88°C auenty 2 Mgl ayailivaison Almg) arala 7170 slayha)
69°C @eflireuenL i areueuaney Gy o amdtlmneiepli ¥

(A) 48 ebleamiy (B) 84 chlastniy, (C) 24 alilaaniny () A whlantiig

A pan filled with hot food cools from 92°C to 88°C in 2 minutes when the roon
temperature is at 20°C. How long it will be taken 1o cool from 71" 1o oU'c

'_.‘ (A) 48 sec (B) 84 secc (C) 24 sec (D) A2 nee
é 128.50wZl0y Blar gon (R) wenl i n bl ment s Gl Blensm g mbhmnh 11k
YeramiiGe @‘”’“W&’/"UU@W@!!U@I. el o flanr (Gl i ey 0001 by Ifi\'sﬁllgj)r,ﬂ)l el e
| efldlzh :

(A) n/R (B) n?:1 (C) 1 n? (D) W/n

When n resistors of equal resistances (R) are connected In series and parallel,
the ratio of effective resistance of series and parallel fs

(A) n/R (B) n?:] (C) 1:n? (D) 1/n

T -  Une— SRS e
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129. QUT(HS g5,

(a)  eamred WHmp SHLyid
(b) A CLrren whmd Bi
(c)  BlpSser

S d) 2 Uy whmo #r

(e) B whmib LoamOlemreinmQenis  (v)

(a) (B) (c) (d) (e)

B) © @) ) @

(ii)

B) (i) (v) () () (v)

(C) (iv) (iii) (i) (v (i)

(D) (i) (iv) (i) (1) (v)

Match :

(a) Sand and Camphor

(b) Acetone and Water

(c) Pigments

(d) Salt and Water

(e) Watexl and Kerosene
@ (b (&) (@ (e

@A) v G G) @ ()

(B) (iii) (iv) (i1) i) W

(C) (iv) (i) (i1) v) ()

(D) (iii) (iv) (1) (i) )

(i1)
(i)
(iv)
(v)

49

(i) s&miss angszd

(ii) sugincmﬂ@’rﬁms, wpamy
(iii) Qfyerd

Qenens EmiFS aig sz

(iv)

ug,ré:a;mrrgé) el

Distillation
Chromatography
Separating funnel
Fractional distillation

Sublimation
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130. Serarmad LA srgenset agyyihimdl v dion el
u
,,,,,,,,, L
W
L]
2
2 ‘ _
(A& 16 (1) 20 () 12 () H
Count the number of squares in the following ligare,
‘A 15 (B) 20 (©) 12 (H) 8
131. 2 2sam spmseflas geumnen sap ey ?
(z)  wanpisrarusailo gl Comons Gladab,
D) myoesd Llis srpdla rreflulian .oena| @eanmbuimd o DL @eampub,
e} zaigz srpdl Eynetlllen spenay flminnered) woigmen DA ohloNd@b,

-~

155 srpdld Hymrellulen 2iaral of s OIBHGT D LiT )

Db (b)) (B) (b) whmh (¢) (C) (c) Wit () (D) .(n) Whmitd (d)

Which of the following statements are falge 7
L]

{z) In a rainy day sound travels faster,

@) In a moist air the water vapour quantity is less and its density decreases.

(c] In a dry air the water vapour quantity is more and its density increases.

-

ld) In a moist air the water vapour quantity is more and its density decrenses,
(D) (n) and (d)

{Aj (a) and (b) (B) (b) and () (C)  (c) and (d)
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133- U sTansHar USSHISET 10 craflld oW Qpenew

134.

A) 20

(B) 10

if a polygon has 10 sides, then the number of diagona

(A) 20 (B) 10

.AB//CD and CDJ||EF wpmb EA L AB Glogith /BEF =55 Grenlev

GET IT ON
Google Play

P8 ~ 2
51
Lt ailaot credor ot gens; .
(€) 30 (D) 98 |
1s of the polygon i8¢
(c) 30 (D) 96
X, Uy % &t T INCIRE

STRTS.
t C’%‘ \“ 'y
TR
| \“ T (_( \ "’
LA™ s %
SX Ny -/\ﬁ,)
| 1F ‘
0 o == Q5HY
(@) x=121°y=121°z=45 (B) x=123°y=123°2=4
[C) x=127°y=127"2=3% (D), x=125"y= 125° 2 =35 l
AB|CD and CD|[EF also EA L AB. If ZBEF =55°, find values of x, y and z
I A A
| .~ 55°
= /, l“y
D x
‘ ’ 3F
@) x=121°y=121°2=45 (B) x=123° y =123 z=45
(C} 2= 1277 y=127 2 =38 (D) x= 125° y = 125° 2= a5°
E sHUrS QurBHSSDS!
sl yTar SLES srifal - el Cursramniiur
(A) cowr GLTsTaAwr - - (F) SI66) 2 Lo6a)
(B) anmL’_@L_mrrc&Tf_rﬂlurr - Culféa
(C) a)mf__@L_rr&rr@%Tt.(ﬂmrr - AvQuiGeat
(D) mmi.@ur&rr@t.lﬂluw - avgGymon
Which is correctly matched - “Electron Transport System in Mitochondrin” ?
(A) Mitochondrid - (Fy particles) Inner membrane
(B) Mitochondria - Matrix
(C) Mitochondnia - Cisternae
(D) Mitochondria - Stroma

| Turm Over
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52 LTS

7 : .
135.10g2x+log4x+logmx = erafley x e oy :

(A) 4 (B) 2 (o) 0 | (D) 0O

CPS - 2

It 1ngxﬂLlog‘;xHogmx =%, then the value of x is :

(A) 4 (B) 2 c 1 , Lo

136. greursfen Geurr -
W Cpir gafigsriuemsey eyanme erdi el iy sriuemsay
(1) Gpir yelriy ETTUINEEY pamed Tl geflFaniuansay

({1i) erdlir @efssniuemsay oyamme Cpir BT eriucnsey

(v) erdir Bir sriLsenay <y ammd Grir eflFamiuensey
(A) (i) wHHID (i) -1b & (B) (i) wpmb (iii) -1b &M
(C) (i) pmid (iv) seumy (D) (i) whmb (iv) &f

The root of the plant is :

(i)  Positively Phototropic but negatively geotropic

(ii) Positively geotropic but negatively phototropic

(iii) Negatively phototropic but positively hydrotropic

(iv) Negatively hydrotropic but positively phototropic

(A) (i) and (ii) are correct (B) (i) and (iii) are correct
(C) (iii) and (iv) are incorrect (D) (i) and (iv) are correct

137.10 8§ gpib wpmd Hleved 2 Friteys Gemsid 0.64 QareimL sflgwiomer eul Leugaus
FMENQ QEEND &H(HGIE. D FFTmUT 6D CPem STTEET A, B wOMIL C WenpGus 5 ms~1,
14 ms~! and 7 ms~! Causgdla Qeddamaern. Qeupmer erpssEsTT euLL allgeud
srenauiled GledabGurg) smesd) eilpd ? (g=10 ms—2)
(A)  &miT A (B) a&mt B

(C) &mr C (D) Qeunmer GTEIaYLD @)eeney
A circular levelled road of radius 10 m. having coefficient of static friction 0.64.
Three cars A, B and C are travelling with speed 5 ms~1, 14 ms~1 and 7 ms~!

respectively. Which car will skid when it moves in a circular level road ?

- (g=10 ms—2
(A) Car A | (B) Car B
(C) CarcC (D) None of these
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138- Q0 HOQINULE Careausafian . QL wpgib B.AUTD PG x+1 whpd

139.

140.

.\.‘b

-1 Gugyip RO LORINILILEG Careney x3+ 1 arafldd LHEODTETENDE SHITEHwHTS,

A P-1x-1 (g (B-1)(x+1) (€) EP+Dx-1 (D) (+1)c+1).

'tl‘lhe GCD and LCM of two polynomials are x+ 1 and x0—1 respectively. If one of
1€ polynomials is 3+ 1, find the other.

(A)

CC-Dix-1) B) @-nx+1 (€ BHDE=D (D) (EHDix+1)

a DOMIWL B ereue 3x2-4x+1=0, eraEy b &LOETLIML L 6ol P BIHET 6T anfl 6

2
o 2
e B : ; S
p ‘oo o s weupern ppotisarras QaTaETL Q(HUIGEF FLOETUML Ig.606
SINDES,
(A) 9x*+28x+3=0 (B) 9x2+28x—3=0
(C) 9x2-28x+3=0 (D) 9x2—28x—3=0

If @ and B are the roots of the equation 3x2—4x+1=0, form a quadratic equation

a” g2
whose roots are F and <

(A)
(€C)

(03
9x2+28x+3=0 (B) 9x2+28x—3=0
9x2—-28x+3=0 (D) -9x2—28x—3=0

serentic HMID STHHD 1P <16 erd@rmedliiy FOUHCUSDSTET 'lf,lugbg,emmasm .

(a)
(b)
(c)

(d)

(A)

geflurarg gamantiladlmbg sTHMEE Csde Ceusmm@Ld

etlwrerg sTHHOHHS Samean (e CFaa Ceusmm@HLd

sementiile) LECsTamsSler LAY wiyHloasw Coramsems oflL 2AHSHOTE @) (W&
GeuaT(hLd : |
seranifiey LHGaTaTSSlan gL LDFFQJLF‘;]G&DGD Caremgans el GDDUTE B)(H&6
Geuaitr(hHLd ' L

(a) wpmd () (B) (b) D@D (d) (C) (a) wHmb (d) (D) (b) HmID (c)

Conditions to achieve total internal reflection between water and ajr -

(a)
(b)
(c)

(d)

(A)

Light must travel from water to air

Light must travel from air to water

The angle of incidence inside the water must be greater than that of the
critical angle :

The angle of incidence inside the water must be leséer than that of the
critical angle

@and (@  (B) (land(d)  (C) () and (@) (D) (b)and (g

[ Turn Over
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{ N M\ -
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N
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TR R S llIIIIlllllll||I\llll\\ll\\ml\\l\\ll\l\\

14111 e x4 om woa)diar gy Qoo QUIGQ1 GIG0TE e e QETOIL_ciy PG,
Quimqngmmrgainmi ol hat i’ g o mamar P-OAUTESILGADSI. 2 mHenemud ey 2.

A s , ,
NI 4 em grafléd w.maenuiadr warjara) ,
e ~ . ' — i 3
< A (A) 385 emd (B) 285 cm? B kirom (D) 48.5 cm?
A% A rectangular picce of paper 11 cm X4 em is fo:df:cl \;\{lthout' oYerlapplng to make a
L cylinder of height 4 cm. Then lhlc volume of the cylinder is :
(A) 38.5 cmd (B) 28,5 em? (C) 18.5 cm3 (D) 48.5 cm3
\ | .

142.a, b, ¢, d whHPd ¢ eremy GOUN LI RS UbGI s GlaucuGauy Bl sarme
Q;srrr&a;aﬁ};ﬂuL@dmrﬁm. (b, ) mOIDd (d, ¢) o (Sem_q_a;csrr Blene W emafwig) eﬁlgi@
aflengen e awrrdlaiper. L@ (a, b) HpI (c, ¢) pEw Camg ser Hlena Wletrefwig
&UTES aflenseni e.quridlampar. Lpg ‘A Cird e Lib QuUH D BHES T, gy
‘a’ QubHBlmdss Geuariqu ergritb ‘

’ (A)  erflir Bergmm’i_tb (B) Cpir Semgpm  ib

; (€)  BergriLiflenenin (D) Gupsar_ oiemenss b ETEEIWLD
Five balls marked a, b, ¢, d and ¢ are suspended using separate threads. The
pairs (b, c) and (4, ¢) show electrostatic repulsion, while the pairs (a, b) and (c, €)
show electrostatic attraction. If the ball ‘d’ is positive, then the ball ‘@’ must be :

& (A)  Negatively charged (B) Positively charged
\\} (C) Uncharged (D) Any of the above is possible
WX ‘

\ . - .

W 143.11 Ql&.18, 12 Qs.18, 13 Qa.18, ... 24 QF.15 <oy fwieunen @OOW LI&ES oeTosaTTss
b Dend (penm 2

Qararr_ 14 sgriusefen Corgsis Ll sres -
(A) 4015 #.Qs.8 (B) 4155 5.0 8 (C) 451580518 (D) 4005 5.Qs.5

Find the total area of 14 squares whose sides are 11 ¢m, 12 cm, 13 cm, ....... 24 ¢m
respectively : ‘

(A) 4015 sq. cm (B) 4155 sq. cm (C) 4515 sq. cm (D) 4005 sq. cm

144, fenere Qeu GGumg 2 (HEUTGLD QUMW |&&HeT ;
(i) No, (i) O, (iii) O, (iv) NO
(A) (i) w @b (B) () wpmid (i) (C) () pmitd (i) (D) @) wHmb (iv)
Gases produced during lightning are . i A |
(i) NO, (ii) o, (iii) O, (iv) NO
(A) (i) alone (B) (i) and (i)  (C) (i) and (i) (D) (i) and (iv)
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ngi llﬂ!fgl QT [l 55 o—
14 .(A) m;ljlbrru_‘ﬂc;nmb ur'l‘sﬂchér,uu@m e_mitiLseflar Fflwimen @) enemrenid CoiibQs@
(C) &en s .‘I-QJ@_‘GU (B)  Bewrfii sirindser - mengulye
Choose ti?uflh e D) @b - Apbren
(A) Stomaciig:ltlcll) ‘;11‘, Wl?ich are affected by plague.
(C) Pancreas ['md [?'te,sunc (B) Lymph gland.s and Lungs
€ iver (D) Heart and Kidney

146.85 08565 s A
LESMTL. gagirrfla)y Curmbgms @atenng Caib@s®EH6D ;

(A Umdledy, @wielen Shens - pETLGEUTEN QeueTans s
(B) .5619@ SUENSLILIML g W68 6hr sheng - lg- SerGLmeD

(€ wossiusten spes - afuCUIrEGTT L

(D) urrbufy, UmsUUT qweller shws -  @iflevimiigd

Following one ig not correct match :
Antony von Leeuwenhoek

0 (A) Father of Bacteriology -
(B) Father of Modern Taxonomy -  de Candole
(C) Father of Medicine - Hippocrates
- Aristotle -

(D) Father of Classical Taxonomy

147. 5apml 1 : Aav_ 186 sHCorHmLd erenugl @swHdnEh morurasEn et Cu
Qréssms THSFF Qed@ib g lciens QrHs Eerisemer QararLg).
Fapml 2 : Haoyuired sHCpTHPL araugy @sUsADED o Ledar 9o = muiy
LOGRTLQRIS@F&EGD QTsssms D556 Qrdaibd @il <G LD.
(A) snpmi 1 &l parred spp 2 soup
(B) &npm 2 &l ST Sam 1 Seupm)
(C) &apmy 1 oHmId 2 Seum)

(D) &apmy 1 wHpd 2 &l -
Statement 1 : Systematic circulation consists of closed loop of vessels carrying

blood between the heart and lungs.
Statement 2 : Pulmonary circulation is a circuit of vessels carrying blood between
heart and other parts of body systems.

Statement 1 right but 2 wrong

(A) i
Statement 2 right but 1 wrong

YNNG
£3) +

(B)
(C) Statement 1 and 2 are wrong
(D) Statement 1 and 2 are right

[ Turn Over
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148. Qar@ésiiul L UL sHO(mbE x+y+2z -R& ST

4
Ao .
i f - '
N
o/
(A) 250° (B) 340° (C) 360° (D) 270°
From the given figure find x+y+z.
X
90
z
30°
2N
. . L]
(A) 250° (B) 340° (C) 360° (D) 270°

f 149. @ varelliie Quarsaild 1/5 urseb, arsalled 1/4 UTEWWL 12 WSS
| Gonaurs 2 arateant. Lereflude Luldgib Crss wremssisaflen eramanisans 1000
eranmd S QuemaeT 2/5 LTS eTame|d QEraTLTed 12 euwg LOHDIL ASHEG
AT QUIGIETET TemsaTsatlen eramantlsens ereualeTey @

(A) 770 (B) 760 (C) 670 (D) 660

In a school 1/5t of girls and 1/4t of the boys are under 12 years of age. If the
total strength of the school is 1000 and number of girls is 2/5% of the total, what

is the strength of the school, who are 12 years or more of age ?

(A) 770 (B) 760 (C) 670 (D) 660

150. 1825 2 L 6 erpgé APl erameneanrs sl L (PP QUTSSLOTELD

A) 21 (B) 22 (C) 23 | (D) 24

Find the leas!: number, which must be added to 1825 to make it a pei'fect square.

a) 21 (B) 22 (C) 23 (D) 24

~
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Lu@H-1V | PART-IV
\9fe-B / SECTION-B

guues u_‘ﬂé:)) 60 GANMTESET _direrer. IEDETTHS! e @pHGD fileni_wafliss CaanBHin.
are : . ‘ g gt
There . questions in all in this Part. All questions arc compulgory.

91. ‘?@556‘5”'_—@@@16“ eTE Heumnest Fadf
(A) . @U"—@D!‘_u_lrrl_'_{ﬂ (PenmenL mng@h(ﬁ@@@h)u}réldv Qamast(h mrrbﬁmlr'
(B) 1772.-61) BOSSSHT GUBIGTETEHS 60T g,sma)jblﬁ'ﬂrﬂ”-’ﬁ)]-
(C) QJW'TGUT@@')GT'DLqmefu @chgf]é;g;ngu‘@ﬁﬂéo @unéﬂd)wrr'u G ;bml-QUmefbl-
(D) efleellud Cam_anulen wpd B 2 @B auycnGanaiq HIa.
Which one of the following statements is Wrong "
(A) Warren Hastings introduced Dual Systcm.

(B) Calc‘utta became the capital of Bengal in 1772.
(C) . Rohilla war took place during the administration of Warren Hastings.

(D) Warren Hastings was the first Governor General of Fort William.
92. ulliqwied - I - uLligued - II o Lan Qurmsd G0 Qar@aEsu@erar
GOW@smens Qaram® sflurer NerLcows Gaibas0

S uliquied - I uL_iguiev - I
(a) appUum (i) mpemor@b @ueT &ene
(b) QureepssTGrm (i) QsTL&SST® LD O(HSSI6 D
(c) smTOlUmsSE (iii) @&y
(d) Qugrsrm (iv) 2(p& Hleomiger
GULIEICIE

(@) () (e (d)
(a) Gv) (@) @ @
®) @ ) @) (i)
(©) i) @ @) @)
D) (i) (@) @) 6
Match the List - I with List - II and choose the correct answer from the code given

below :

List - I List - II o
(a) Harappa , (i) Dancing girl statue |
(b) Mohenjo Daro (ii) Early Dentistry
(c) Kalibangan (iii) - Zebu
(d) Mehrgarh (iv) Ploughed fields
Code : ,

(a) (b) (o) (&)
@A) (v (@) O 6
®) () @) @ 0
€ (i) @) ) Y
D) ) @) @ 0

D
' - [ Turn Over
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-2

el pfssonds @pfw f_&in?‘eeré@sﬁzs, FgooUUL L. BTET :

[A) 1930 gerewd 26 (B) 1929 wswum 31
(D) 1947 y&sul 15

{C) 1930 ».:{\"‘“1 26 : .
The mi-colour flag was unfurled on the banks of river Ravi on :
{A) 1930 January 26 (B) 1929 December 31
(C) 1930 January 26 (D) 1947 August 15

SNSRsaen tuSURES LW -1 Y
v e - I UL quieo - I

() wvepalumlsy (i) uvals Qedeosar QL gdleb 5 L. LBl_l_@a;@
G2DY.

B) s=dwaw i) ceonusl fodeg & @UUWWD L

) vl dzsasarrs efpes)

(o) uad (i) ud wHmb Qewsd Bg sramiLBLD Alw
Sisgieflaar

@ uvefzfa iv) Biszeilan el d 0.5 BL.BLL®BEE e;qg‘,]asu)

(&) ®) () (d)
@ @ @ @
® ) @ @ W

€ @ @ @© @

D) v @ (1) (@)

Mazarch List - I with List - IT using code :
List-1I List - II

{a) Rainfall (1} Ice pellets less than 5§ mm in diameter.

(b) Sleet (iI) At below freezing point, fall as ice flakes.

(c) Snow (ili) Water droplets clinging to grass and leaves.

{d} Dew (iv) Water droplets of more than 0.5 mm in diameter.
Code :

(@) (B) (e]) (d)
Ay @ @ ) )
Bl (@) [ 1) ()
(C) G () @) (@)
D) [ @) @) (i)
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e given below

o

-

ist - IT using cod

(@)
(i)
(i)
(i)
{1)

(e)
v
{11)
(1

{11)

(v

)

(a)
(i1
(11i]
(111)
{iv)

(b)

) ()

{iv)
( i) (m) ()
March the List - I with

{A)
B)
(C)
(D)

t

ist - I

£
Jt 71
2T E
N B g
m‘m,.zg.m
mmMm
Do E
miEE R
v
o
0 0
&
Smos
S VAT
nmﬂr
.Mb ...le
>0 20
Py, #—
g0 07T

[ Tum Over

(ii)
()
(i)
(1)

(d)

-

(iv)
(i) (i1)

(i)

(c)
(1)

(b)
i)

i) (i)

(a)

(i) (i)
(i) (
(iv)

Code :
(A)
(B)
(D)

(C)
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98- ﬁm*ﬂ&a‘ u.f:L:l;:: 3 4}5 o
-~
-

-~ - o) e N

B GCsfu Séragm B USRI
Qs gz "r\a\a._"i'é‘
(Ch Seraray ST W S

(D) =z &= SEREER o o
F the folowing method minimum amount transfer 18 2 ) lakh d

Which one O ¢ 0%

- ~ 3 - e

jA} Real Time Gross Sestiement System
2 . - - 2 N -
B8} Nadonal Elecmomid Tunds (ransiyT
(Bi Nauo 54
. - 5 e G B
jC) Electronic (leanns Saioes
R

s ANQ) @y sy gien e

99. FEsw srduo@nuys s A& TEIONWTIF
soaart UEESEZE &9 QzlSpsm ?
(a) 82 B3 &3 (C) ©% (D) 68
In which artdle, the Constmton provides for a Vice-President ?
(a) 62 3 &3 (©) o4 D) 65

100.2 vSfar Lawand QST oURSET TadD ATTSOSMW o ap@irERwIQI

(A) Cypoam &0 L TSOLDEN (B) E.O. ldsa
(C} Brinoes SWLWFD ' (D) LG. Sbwar

Who coined the word ‘Biodiversity Hotspot’ ?
{A) Raymond F. Dasman (B) E.O. Wilson
(C) Norman Myers (D) LG. Simmon

101. 97 ncs @pSwredan @z Qurgs Cais® BLbS P
(4) 1920 (B) 1925 (C) 1930 (D) 1935
General Elections were held in British India in :
(A) 1920 (B) 1925 (C) 1930 (D) 1935

102.9p8wreflé) GST (Goods and Service Tax) BenL(PaDLILIHGSLILILL BTG :
(A) elge 12017 (B) esameufl 1 2017
(C) @ee 12017 (D) wmr& 1 2017
In India GST (Goods and Service Tax) became effective from :
(A) 1st April 2017 (B) 1%t January 2017
(C) 1St July 2017 (D) 15t March 2017

S——

E—— ..
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103. Sp&SETL BSebr Y Sseriisefe eTEl ey S| L_GVT 6Tt

CPS - 2

g5 s @ :

(a)  Srrem S (B) i@ &L SO

€ fl AL (D) Lrsi SO

Which one of the following fishing banks is not in Atlantic Ocean ?
(A) The Grand bank (B) The Agulhas bank

(C) The Reed bank (D) The Dogger bank

104.5Cy Qer@ssiiul Larsalld @bHwu Caslw s drflen (pSe WTHTLigd (LPSHEV

SMoregenss Qaran() eubgeurr Wi ? -
(A) eol&0 Bre Gy (B) é]‘.aqggmmﬂm-chujmﬁ
(C) Egyeurs Gerenar (D) TS LIEC)

Who among the following moved the first resolution in the first session of the

Indian National Congress ?
(A) Lakshmi Narasu Chetty (B) G. Subramanya lIyer
(C) Srinivasa Pillai (D) Rangaiya Naidu
' \
105. Qg6 QL(HRISL G 2 GTeT W pLomeT 2i&0 ergl ?
(A) reur &Yl . (B) Qsen smen_eilF s

(€) wiwremm &P (D) uuTer Si&Y

Which is the deepest Trench in the Southern Ocean ?

(A) Java trench (B) South sandwich trench

(C) Mariana trench (D) Japan trench

106.LTELISTEIEED, SL@ISED @G (Pubs o |enLilgdensufen QUWIT ereme ?

(A) wedler o | eLlig&HeNS (B) SeTLLD& 2 L 6iiLllq&Hend

(C) LomISEHT o | GTLIg &S (D) whrhistiulger 2 L6l &Hms

Which treaty concluded between Yakub Khan and Lytton ? *

(A) Treaty of Bassein - (B) Treaty of Gandamak ~~~

(C) Treaty of Mangalore (D) Tfeaty of Srirangapatnam

[ Turn Over
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107.96mauHb sappsaid e Lireopaer amibmHl eyl [ arana sl
gl 101 GG @nps daly e,

(i) UCUETRIGET DI LDEOOTL_GUd Jil_e) LI . ' : '
(ii) LeueTIGET QEHTEEwITS gt LaniotiLima almpdlany @)artisatli gepireib,

(iii) @emau Quepburgid 10° AU L& (3 mﬂ)mrrlh 10° Qi A-8GyassEnhes
Qeniul L L@Haafle (G eumpdlenpen :

(A) (i) b il k (B) (i), (ii) 'lOl'_®l.b 1)

(©) (), (i) wpmid (i) -1 &l (D) DIeneGHID Gal) ’

Related to corals which of the following statements is/arc correct ?

(i) Corals live only in the tropical scas. '
(i) Corals live in colonies and they are a collective. .
(iii) They are normally found between 10° North and 10° South latitudes only.

(A) (i) only correct (B) (i) and (ii) only corrcct
(C) (i), (i) and (iii) are correct (D) All are wrong

108.Csma eNflan clHelesms elarss oi. @rruil &louen
vwetu(B&S o eTermir.

e 505

(A) eTETrENT LD (B) &pBlenas LiemL LD

(C) m&Teyl uamLd (D) @upess UL LD

In exceptions to the Law of Demand, Sir Robert Giffen deals with

(A) Normal Goods (B) Inferior Goods

(C) Consumable Goods (D) Natural Goods
109. QUTBSSIS ©

(a) ™G (i) pmReLSTeHT

(b) eau@fluwid (ii) mrCsagyeur

(c) &mientladlwed (iii) egmr(Hens

(d) G&by (iv) Cergge

GO

(a) (b) (c) (d)
(A) (i) (i) (iv) (i)
(B) (i) (i) (v) (i)
(C) (i) (v) (1) (i)
(D) (i) () () (i)

Match : »

(a) Shell (i) = Rajasthan
(b) Lapis lazuli (ii) Nageshwar
(c) Carnelian (iii) Shortughai
(d) Copper (iv) Lothal
Code :

(a) (b) (c) (d)
(A) (iii) (i) (@v) (i)
(B) (1) (iii) (iv) (i)
(C) (i) (iv) (i)  (ii)
(D) (i) (i) () (v)
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110.

111.

(A)

(€ Qsadlar ey

63

(D)

uélira) (penn
au(mLomet (LPeD
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Which one of the following is not the method of calculating National Income ?
Product method (B)

(A4)

(C)  Expenditure method

(D)

Distribution method
Income method

L lqwed - 1 - 8 uligwe - 11 2 _an Qur@sd &G Qsr@&sLulBerer

SHSRsoears Qzsran® sfwren elenLerwp CarpES0

(a)

U iquied - 1

Csflw use w5 STiumy s0 LD

®)  vdg@ien urgsTiy s Lb
(€  =DpéEGwe (urgismiy) s Lib
(d)  aer (urgismiy) s Lo
&A@ :

(@) (b) (e) (g)
(A) (@) @) (i) (iv)
(B) () (i) (1) (iv)
(C) (1) (i) @) ()
(D) (1) () (i) (iv)

(i)
(ii)
(iii)

(iv)

UL iguwiev - II

1980
2010
2002
1986

Match the List - I with List - I and choose correct answer from code gilven below :

(a)
(b)
(c)
(d)

List - I

National Green Tribunal Act
Biological Diversity Act

Forest (Conservation) Act

Code :

(A)
(B)
(C)
(D)

(a) (b) (c) (d)
(i) (@) (i) (W)
(iii) (@) (i) (i)
(i) (i) (iv) (i)
() () (i) (iv)

The Environment (Protection) Act

(i)
(ii)

(iii)

(iv)

List - II
1980
2010
2002
1986

[ Turn Over
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112.61g sflwrs Qurmbuycrersl ?
(A) LUl SPSLD - 1850
(B) Qsenenen &G54 smisLD - 1884
(C)  yeur sieuggens sFenul - 1870
(D) Qeenenan WwaTgean FeLl - 1852
Which one is correctly matched ?
(A) The Bombay Association = 185.O
(B) Madras Native Association R 1884
(C) Poona Sarvajanik Sabha o 1870
(D) The Madras Mahajana Sabha - 1852

v auflesliu®ss GO sener

113. pssnanib culbsrismer STOWMD iigLILmLule
LwetuRSH e wefléseyLb.

(i) &levgd eubabd (i) &&6TE EUDFLD
(iii) <gemd eULb&LD (iv) eswg QIb&LD
GG :

(A) (1), (i), (i), (iv) (B) (i), (ii), (i), (iv) .

(C) (), (i), (i), (iii) (D) (i), (iii), (iv), (1)

Arrange the followmg categories in chronological order and answer by using the
code given below : ‘

(1) Khalji Dynasty (ii) Tughlag Dynasty
(iii) Slave Dynasty (iv) Sayyid Dynasty
Code :

@) ), @ @), @) B (), i), ), @)
© V), ), ), ) (D) (i), (i), @), @

114.1ps0g e sTélbd TS BHEIEDSS ‘ShIG HEHTLD’ erenm) gqemepg,g)rrrr

(A) Glebed (B) @pévgmen (C) &myed (D) &mewLyiT
Which city was called ‘The city of Gold’ by Muhammad-bin-Quasim, ?
(A) Delhi (B) Multan (C) Kabul (D) Kanpur -

115. Qléraumeuaraunble erss Caremme samanfle 10gse @u_@u.o ?

A

(4)  eflwmipar (B) &afl ©) yGpeme (D) Qpliguyer
Which of the following planets can float on water ? bl

(A) Jupiter (B) Saturn (C) Uranus (D) Neptune
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116.5p5656m_6uhang L

65 CPil ~ 2
[’)JJJI’E .

L 1qw6b - 1 o
U iguied - 1T

(a) emamd f
QD& Gen ren) (i) Feanr pigavayned

(b) Gﬁéﬂu_j |'|'

(ii)  LomaTemr @pHisdT
(c) Hym . —
= (ili) erflidld) 15 -cugy D% 2\ Bl A

(d) QLDG'(STQUJ@:U (iv)
GO :
(a) (b) (c) (4)

Gl auiga ﬂmamﬂluémaﬁ

(A) (i) (i) (i) (iv)
(B) (iv) (iii) (ii) (i)
(C) (i) (1) (iv) (iii)
(D) (i) (1) (v) ()
Match the following :

List - I List - II
(a) The Hyksos (i) Chinese Philosopher
(b) Viziers (ii) Provincial governors

(c) Ziggurats (iii) The rulers of 15'" dynasty of Egypt

(d) Mencius (iv) Pyramid shaped monuments

Code :
(a) (b) (€ (d)
(&) (@ @) (i) (iv)
®) (v (i) @) (i)
() (i) () (iv) (i)
(D) (iii) (ii) (iv) (@)
[ Turn Over '
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7. S sar_aihen QurmsHIS . .
LI W6V = X ULl W6V - )

(v)  eanCrrfleflGaen (i) G]LDE.LJGL_FI'LﬂUJ
(b)  Hwyefumrmd (i) erélugl
(¢)  @amgpymal (iii) &eorm '
(d)  wl@U ureng (iv) umAGemen
GOIE :

(a) (b) (c) (d)
(A) (i) (i) (iv) (i)
(B) (iii) (i) (i) (iv)
(C) (i) (i) (iv) (iii)
(D) (i) (i) (iii) (iv)
Match the following :

List - I List - II
(a) . Heiroglyphic (i) Mesopotamia
(b)  Cuneiform (ii) Egypt
(c) Hammurabi (iii) China
(d) Silk Road (iv) Babylon
Code :

(@) (b) (c) (a)
(A) (i) (i) (v) (i)

(B) (i) (i) (i) (iv)
(© i) () @) (i)
D) () @) (i) (iv)

118.gcuprar Qenamaanar jenL wiramih SHTETS:

;i‘ i) Epluptispsren uarLng - udeTarD
| (i)  @erLLinprisharer) uerum(p - Opeursr
(iii) Guéuprishare LU (®) - urGsri 11
(V) Qe éspsrer] L&Tum () - Gsmuef wewGLr
V) ydw spsrer Lerum() - Quanisri
(A) (), (@) @i

(B) (iii) v @y
(C) ({v), (v) LLE® bk

. Identify the wrong pairs : ) Hle 9 .
: (i) Lower Palaeolithic Culture -
] (ii) Middle Palaeolithic Culture - ;allavaram
(iii) Upper Palaeolithic Culture - Bevasa
(iv) Mesolithic Culture el
(v) Neolithic Culture . Chopani Mando
() (i), (i) only B) (i) onp e
(©) (v}, (v) only o) (o

(]i].), (IV) iny
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119, G e Gl g
_ i ].mwnp-u.li il i i ' - |
g F f i dkiisyanil () 1 S Nitiwenthtll -
o ﬂ‘;”’”,ﬂ‘ﬂ’ﬂ‘f”m” " | | HWIW i) AN Al 10 iy
(A)  6E
'{,‘I “” 60 ,Mlml "’ t/rj ,m,”" ”“ '/f'r ';,,ly/é

el atatmed (he

t P . /
amendment of (1 it af Hationil Coagital teritary by Hiw

Caonstitation,

(A} o (1) futh () 7and () 75"
120Jj?{:‘;i:,{w:’,::’;;;"’"1';:l’::’:? ::}"f]j‘!lel"'iu ”H.ll vmﬂ,;l.lf.fu ;;y);i:,zj,lu”u,,/m,’” ' ( Zt;-.-u'w;»{ N
« floesana " Captamansa i 1L | gl tsmfsaithy ittt

(A) eheaCyain an i i (14) (I 16t

(C) Iy mahiren (1)) waguinttinffont Alshigl)
(A)  Feroz Shah Tughlig (14) Lol b

(C) Tippu Sultan (D) Aauddin Khalji

121 arfios @)evcont arfluamnen Genmanfihmi s

(A)  opannafican Aldgh) - AL 1200 - 17296
(B)  Lurgipentiah CGeniig. S N P A K
(C)  (pming) 19aor LI . AL, 1526 < 1801
(D) (,nb‘,:j',|,|‘f[;g,h| mC{h_].’i. - A9, 1206~ 1210

Which one is not matched correctly 7

(A) Ala-ud-din-Khilji . 1290 - 12096 A1,
(B) Bahlol Lodi 1451 - 1498 A1),
(C) Mnlmmrnml-hin—'l‘lw,lnq . 13258 - 1361 A.D,

(D) Qut_l)-l,ul-(lin-/\iI)ulc . 1206 - 1210 A.D.

ma il Lgglelania) 7 Bt o) Qauciflona 34” (b
ranadlan (2007 bl mid g Al o by z D)
e Qautilenay @enpay dighamms Qandn() sk 05,
(B) 21°C (C) 44"C (D) 24°C

rature of Chennai (7 meter above MSL) is 34°C, calculate the
[ Kodaikanal (2007 meter above MSL) using normal lapse rate.

B) 21°C (C) 44°C (D) 24°C

122. Quenenenuiled (
creflay  Qaranl-& A

QauLiublencenti] flu
(A) 11°C
If the tempe
temperaturc o
(A) 11°C

[ Turn Over
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123.Cur@psgis
(a) @evGied (i)
(b) GQgiwe (ii)
(c) mrrGau (iii)
(d) pegwmr (iv)

(a) (b) (c) (d)°
(A)  (v) (iii) (@) (i)
(B) (iii) (iv) (i) (i)
(C) (i) (@) (i) (iv)
(D) (iv) (i) (ii) ()
Match the following :

(a) Israel (1)
(b) Germany - (i)
(¢) Norway (1ii)
(d) Russia (iv)
Code :

(@) (b) (c) (d)
(A) (v) (D) (1) ()
(B) (i) (v) (1) (i)
(C) @) @) @) ()
(D) (iv) (i) (i) (i)

A)  Gaggym
(B) &leor
(C) eumevd)

(D) &uL syrapr

(A) Kshetra

(B) Khila

{] (C) Vasti

! (D) Gapata Saraha

PR gl e S S M

P A T e

Gwmr

GET IT ON
Google Play

0 WO

6

@

GoGLITITIg Ml

QDQ&L

LTV L&

Duma

Storting

Knesset

Bundestag

124;&@&;5@me[&® QuUITBSSLLHDS 6TE ?

LAl &sgw Heown
sfla e

Gimsss sGHs Harid
LUTen e 6uaTLD

Which of the following is not correctly matched ?

Cultivatable land
Waste land
Habitable land
Desert

\
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lzs.gtp&&ml—mw@m Qu"@ﬁ"@& ’

I-"'_lqu_]d) - I . 3
1 g wien - 11
((;1)’ j?’@ugﬂﬂ (1) puag - @ - Jneﬂlﬂ
o & [0 ‘}—dﬂ Nprgy (1) OUsT e s
- ﬁ‘;’f@sﬁﬁm uresf] (i) @rda - cope - @bl
NI @ (iv) @il - @ - @uGrrevegmgubl
GG : A

(@) (b) (c) (d)
(A) (1) ({) () (i)
(B) (1) () (i) (iv)
(C) (1) (iv) (i) (i)
(D) (i) (i) (i) (i)
Match the following :

sl List - II
(a) AI_'Bcruni (i) Tabaqat-i-Nasiri
(b)  Minhaj Us Siraj (ii) Mifta Ul Futuh
(c) Ziauddin Barani (iii) Tarikh-Al-Hind

(d) Amir Khusrau (iv) Tarikh-I-Firoz Shahi

Code :
(a) (b) (e) (d)

(A) (i) (1) (v) (i)

(B) (i) (i) (iii) (iv)

(C) (i) (iv) (i) (i)

(D) (iv) (i) (i) (i)

126. 50 ppriigen  THd Gursde  Grmoraflw promus (@6l ud s
serdL@ésuuL@ererg ?

(A) enuwibuerefl (B) ey Bsspognt (C) bYsTT (D) GarHwenrd

ave been discovered ?

In which place of TamilNadu Hoards of Roman coins h
(A) Pajyampal[i (B) Adichanallur (C) Poompuhar (D) Kodumanal

127.56upnes Genemrail sam(H %y :

(A) efildvauig.el @LeoLm - eopd pgl
(B) umpeneu UM @LeLm - Beweflediing ph
- grisons b4

Cc) &aflw e ou GLeLm
©) sl auig " o

& QLo
(P 5@@ gly matched pair.

Identify the wron w
(A) Arcuate Delta Nl'lc river
(B) Birds Foot Delta - Mississipi river
(C) Cuspate Delta - Ganga river
(D) Estuarine Delta - Seine river
[ Turn Over
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crs_2 70 U000 ORI g

128.8paumn QLo sdgrarsaia Gandannay LGSR gEatsiT -
cinmi 1Dn ik
i) erasar dag (ii) npsog G 550
D sSars (iv) @gradin Garg
(i) QuCrmev zsers iv) Glgraed
) g T WPy YA
(A) (@), @) o @o (B) (i), (i) wi G5
(C) (i), (iv) LB (D) (i), (@), Gi), )
- - - - » ’v (.; = -
Which of the following Delhi Sultans repaired Quib Minzr 7
(i) Alauddin Khalji (ii) Muhammad bin Tughlzg
(111) Firuz Tughlag (iv) Ibrahim Lodi
(4) (@), (1) only (B) (i), {iii) only
(C) (i), (iv) only (D) (i, (i), (i), (iv)

129.58pp 1 & wrail L5588 s pEens W sL 2 gdliisy

THLBHSsILLL 5.

(A) yz&CGamien (B) sinoyf (C) szepsmast (D) wzymy
— District was first estabiished Self Help Groups for women in
TamilNadu.

(A) Pudukkottai (B) Dharmapuri (C) Thanjavur (Dj Mazadurai

Ay

130.2 wdle Cprlrees eiflppstin@sdn iz BB
(A) 12 -augy (B) 13 -augy (C) 14 -auzy (D} 15 -cu
India is the Country in the world to introduce NOTA.

({‘J 12t (B) 13t (C) 14t (D) 15t

131.8pssam_summa BUST sTedslé GaLaimys
Caireys@hing erg 2
(A)  2swdlfl Gens (quer)
(B)

G@ss Candd aar geupnen

SIDBST - eroGarym Gens (Loarnylraig,l_f,_m_b)
(C) erdllurar gens (ma;rrgrr@'_q,lq_gm)
(D) urs (3w 9rCss1b)

cut cave temple of Gupta
(A) Udayagiri Caves (Odissa)

(B) Ajanta and Ellora Caves (Mahar h

(C) Elephanta Cave (Maharashti-a) )

(D) Bagh (Madhya Pradesh)
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132, QoA Nevar prandd LD Gy arebitiong «apia] @ s ig) aNLTTESALD.

(A)

(€)

__Saguoneat gy

WdsEr Qe Wi m b

~alliy wirbpid

S

afleneo wnhmib

71

(B)

(D)

an@l IDIHDD

n
L f_l )
T T ———— A

ailama 1DITHLD

[HIITG INHMHLD

e

QUARIDITET LDITHOHLD

Check ou Aan
©out the Marginal Propenasity to consume and identify :

(A)

-\ )
‘Llu\ngc in Income
Change in Population

N a b
Change in Supply
Change in Price

(D)

Change in Demand

Change in Price

Change in Consumption

Change in Income

GET IT ON
Google Play
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33.L la i Y .
1 eflufuicdled POPLILIGGSILI L. DQDIGHEPEH DU DIflpsiLGSH e :

A feo ML '
i C)) a‘;;& l‘?‘fa“-" ‘ B) eyl GLr@paflav
) h{n-ociicéﬁlﬁ'?m _ (D) ..,u'uQme'r,mreﬁm_fr aumest @LbGLITELL
@A) Carl Rit 1e systematic approach in geography ?
©) Hcrod\mcr (B) Eratosthenes
B G " otus (D) Alexandar Von Humbolt
LurmeHis
i :m':-l_‘i-‘“fb‘l L lquwied - XX
QDETLIT &P (i) @myer eureden i
i 4 o, , 4
::; iﬁ?&;iﬂé}mw (i) QoudGaaved Gy
‘ o (iii) Moues Wiy
g)ﬂsm%bs{s]m QAU uanflufer gy (iv)  elldelluib Guemgs Gy
(a) (b) () (d)
(A) (ili) (i) (i) (i)
B) (i) (i) (i) (iv)
(© (i) (iv) G) ()
(D) (i) (@ii) (v) (1)
Match the following :
) II-‘[istgl . o List - II
a unter Commission (i) Lord Cornwalli
[ T Dt b joct metny
) = _ ord Ri
(égdaF:ather of the Indian Civil Service (iv) Lord WIi)lTir.;tm Bentinck
(a) (b) (e} (&)
() (i) () (@) 0V
B) (i) (1) (i) (V)
(©) (i) (iv) (i) ()
(D) (i) (i) (iv) ()

[ Turn Over
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(TG LA RO RS

KEOE,
X : " wwe - IX
LR QAU - I LR

(@) Cayden M Qody
®)  Naysn ) o
© Qoadier spwdy (il Caiarratrann Hab )
@ us (v shish, Querall siellsdt
SO
(&) (b) (e) (d)
(A) @) @) @) Q@v)
(B) (1) Q@v) (@) ()
(C) @v) (@) (@1 Q@)
(D) (i) @v) (@) ()
Match the following :
List - I List - IT
(@) Kshetra (1) Iron
(b) Nishka (1) Tax
(¢) Krishna avas (ili) Agriculture land
(d) Bali (iv) Gold, Silver ornament
Code :
(8) (b) () (d)
() (1) @) @[ (@)
(B) (i) @v) (i) ()
(C) (iv) (i) (@) ()
(D). (i) (@v) (1) (i)

136.

SPESITLUDNIET TEETTRRISE@FESTS BLogl ArFewliifenar Csrhnelssautad

Qrilorhg HrLTELED wopaws Cerpts@sseant :

(i)

(iii)
(A)
(€)

Sbepepuramar uflFswud (i) oifls QuryLyeTiTay

Sifarrl QfleQear (iv) ueTpsssaranowErer @BHW FpSTLLD
(i), (i), (iv) wLHW (B) (i), (i), (iii) wl_@wb

(i), (iii), (iv) WL Hb (D) Qeveu S@aEESHID

Due to which of the following reasons the founding fathers preferred the British

Parliamentary System ?

(1)
(1i1)
(A)
(C)

Familiarity with system
Separation of power
Only (i), (ii), (iv)

Only (ii), (iii), (iv)

(ii) More responsibility

(iv) Heterogeneous Indian Society
(B)  Only (i), (i), (i)
(D) All of the above
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(A biieildy arebemenGuimd anenwadt @@l Q;ﬁlrur‘,].muut_t_ @ ¢

(A} 1973 (1) 1960 (C) 1956 (D) 1965
Hordar Roads Organisation was setup in Indin in
(A) 1973 (1) 1960 (C) 1956 (D) 1965

.
I

pan, o s BsACamn Heanb Ganam_r i@ ag
(A) 1oihd - 18 (3) il - 14 (C) tomid - 16

World consumer day Is celebrated on __ ;
(A)  Mureh - 15 (B) March - 14 (C) March - 16 (D) March - 13

(D) Lomi& - 13

139,00 ;. J.M, Kdney sjauimdr Hirano LS HDETET ETTETASETTE

D) erarm,
(A) 2 B8 o
Point out that J,M. Keynes has introduced liquidity preference theory into

motives,
(A) 2 (B) 5 ) 3

3 (D) 1

(D) 1

1404y wppib Gaenay afludelmbsl efla@LQubDD QUITHLSET eTE) ?

(A) @bl @uimpsmer (B) Hessfl QurmLse

(C) @i T @ UmHL_geT (D) CupEMindlL agejd Revepad
Which one of following goods/products exempted from GST ?
(B) Coal products

(A) Iron products
(D) None of the above

(C) Specified petroleum products

141, ol asefwam_asdan SpULGH :

(A) gl wam_D

(C) mm}armaris(z/};nerrtb
f the Solar atmosphere is called :

(B) Convective Zone
(D) Corona

(B) Qeulil 2 101pa| HPHE e
(D) &Grmem

The lower region 0
(A) Photospher
(C) Chromosphere

@ D5 o@D sTamILGD preT :
(A) gD ® 4 (B) genaul 3 (C) Qslbuf 5 (D) wsbdUT 4
The Sun appears 0 pe the closest to the earth on :

(B) January 3 (C) September 5 (D) December %

142,05, fuscr Leid

[ Turn Over
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143. Spasrguid sppsald el / e afl ?

144,

(i)
(1i)
(iii)
(iv)
(A)
(C)

GET IT ON
Google Play
by

& T e O A g

b i T Elwrennd)
DG HE@ WSQ)LD SLiGHw .

' | refluarang,
L@LWREE 50 .5 W ey U . . ”
QeoLu@sdd ewrd Hslss QeuLiublen@uyo 2 HaM&8ng)
émnﬂtu@&&]@ ity elens Gemeurs P—G‘T'ﬂgag;l.
' DOILD (i “(hu B) (iii) wL (WD
(i) wHmID (i) WL ( BENE o
(iv) L (Hid (D) (i), (i) wHmD (iv) (Kb

Which of the following is/are true ?

(i)
(i)
(iii)
(iv)
(A)
(C)

Troposphere is the densest layer of all.

Stratosphere is extended up to 50 km. . .
Temperature increases with increasing altitude in Mesosphere.

The gravitational pull is minimal in the exosphere.

(i) and (ii) only (B) (iii) only .
(iv) only (D) (), (i) and (iv) only

g@&&@'OTL_QJﬂ)GnH) QU"@,&JQIHS :

UL 1qui6D - I UL 1guwieo - II
(a) <eupd i) eeresgmn ifsm
(b) Hrsseugi (ii) peuemriiugleumariger
() urey (iii) Sirs gngleurser
(d) sreussT (iv) swimey whmb Curi elleusmiisErésrear Sewssi
&I :
(@) (b) (e) (d)
(A) () (i) (i) ()
(B) (iv) (iii) (i) (i)
(C) (i) (iv) (i) (i)
(D) (i) (i) (iv) (iii)
Match the following :
List - I List - IT
(a) Avanti (i) Secret Service Department‘
(b) Dirghadhvajas (ii) Keeper of Records
(c) Banu (iii) Royal Messengers
gjldes.magata (iv) Minister for Foreign Relations and War

(A)
(B)
(C)
(D)

(a) (b) (c) (d)
(i) (i) (i) (iv)
(iv) (i) (i) (i)
(iii) (iv) (i) (i)
(1) (i) (iv) (i)
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145.7)5}7/3:2??“??2%%) 4*{& sy a6 7 ‘ )

5 5145 /J;’—%;Ar ,,, s s 5 /:” PYILL ,) s ‘71’/"'15)'1:‘!'//’,,‘,',‘.? :..",.;) ?21)’()
B "";ﬂ»y/);..t, T Bh B g WL,
(ii) ﬁ U aey jj 2 SiCy ,.:-A_r{,,j ariny o s o Lamuu BAE P R A
9 );‘7":_,_,}';(, grrr: ‘,)r/,)}’,f..,.._

(‘111) PSS GTIEENR gl fgpansymiss s Lo /)’3"”" G
fiv) ggu"" Pa AT &7 AL R I -Jf)';'.r’/' (55T
(A) ), Gi) i Bs (B) (), (v wilé (€ (), () oo

5,4;,‘.?

,
o

4
g5 7 /

G gphah ) 05 O 7 s
|57 (.u;, (I"/j !.’.‘._,.y.:’a

Whi

Which among the following statements is not trus ?

(1) QUtb-Uddm Aibal imposed Jizyz on ,'-",:’;‘-.':f salims for the first time in Indis.
' nent of agriculture, czlled

(if) Sultan ltutmish estsblished 5 sepzrate depsrtn

Diwan-i-Amir Xohi.
(}11} Sultan Firoz Tuy }'IL‘!{“ established z =« ;:(z rate departiment for «i/;,h
fiv) Sultan Muhammzd Bin Tughlsg introduction of copper and silver tznka.
fA} (i), (ll) only (B) f!ilj, ‘!'f} ol ¥§ (Cj f!,, 123} (Iﬁ}f ‘Df (ﬂ)’ {33’} ).,

f'\

Ve -
f Afieblam

GHT 5 AU AV

~

146.cumonencufl seamszi ngn Clngs sheaiss
2 andlng.
(A) Yfley 56-39 (B) 9fay45-55 (C)
Under the computation of Income Taz, Income f

’/
[&2

Gfiay 2227 (D) Gfiay 15-17

o 3

rom szlaries under the sections

of :
(A) Section 56-39 (B) Section 45-55 (C} Section 22-27 (D) Section 15-17

ol :?'Q*u'rﬁ',a 245963 7
PF-Y S .-

147.2paumph sahmseiis &
GarT FL0U /tf/- %"%’E,‘&". e e_,,,,;;r;"* %Uf@ﬂ'

(ij Querss ﬂp)rr/ﬁ'uéu g 5
eram rgmluﬂl_uu@wmfr_

(ii) Fweomr unpbufiugflan s s SLLEHE Canppeblzgoni feaguir Zgaumi.
gz suwiilms Gwmdidd eagsiul Len,

digin, s BEATD 2 Aumas (Hs dem_sssrm

(iii) 0& DpmLsFana) ST i v
(iv) 24505 _/g/j;!am.
FLOGIT BIOIFE ar .-_%’,f'JLD
(A) (i) u)"g:gu':) (iii) i (Ho . (B) (i) whmpb (iv) ol GHib
(C)(m)mpr(W)wLOw (D) i) WG -

Which among the following statements is not true ? ]
.. (i) The first Jaina Tirthankara vas Risabha reffered to as Nigantha Nataputta

by Buddhist tezts.
(i) Azcording to Jaina tradition Risabha s the founder of Jainism.
(iii) Most of the early Jaina texts vere written in Sanskrit language.
' ; Sutrakritanga and Kalpasutra are the earliest Jaina texts.

' 1v] : Sutra,
' ;Xl}) ‘8,0 Zgﬁﬁaonly (B) [1'1) and (iv) only
(@ (i) and (iv) onlY ©) ) only -

v’
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(C) eren. s58wapiss . (D]
Who led the anti-simon campaign 12 EpsRnEm S

TamilNadu ?
(A) C. Rajagopalachari (B) K. Kamara o
(C) S. Satyamurthi (D) Vijayarahavacnart

149.8) 55w QuEprsLdle g gHuD HUDSEES

e :

(4) 1999 (B) 2010 (C) 2004 D) 1952

The naming conventions for storms +hat develop in the Indian Ocean begin in :
(A) 1999 (B) 2010 (C) 2004 (D) 1952

150.8)pw Spfweenliden abs LEE Coisd yeemusasU! upd EamElng ?

B ued XV (B uedXX (O ued XX (D) ugd I
Which part of the Constitution of India says about the election commission ?
(A) Part XV (B) Part XX (C) Part XXII (D) Part III
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